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The following Table - | shows the percentage distribution of overseas tourist traffic from India to different Countries and Table-ll shows
the percentage distribution of overseas tourist traffic from India according to their age during the year 2022. Based on the data in the
tables, answer the questions that follow.

Table - | Country-wise Distribution of Indian Overseas Tourists

Country
Japan U3A UK QOthers
30% 40% 10% 0%

Table - Il Age-wise Distribution of Indian Overseas Tourists

Age group

<Dyears | [30-40)years [A050) Years | 250 years
15% 15% 0% 0%

Whera [L-M) yaars means age is = Lyaars and < M years

Sub questions

Question Number : 1 Question Id : 22742713169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
If the tourist traffic from India to USA is 165000 more than that of UK then what is the difference between the Indian overseas tounist traffic in the

age group of [40-50) years and [30-40) years?

1.72500
2.21500
3.93000
4.42000

Options :

22742751301. 1
22742751302. 2
22742751303. 3

22742751304. 4



Question Number : 2 Question Id : 22742713170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The ratio of the number of Indian tourists who went to USA to the number of Indian tourists who went abroad and were below 40 years of age, is
1H

283

338

443

Options:

22742751305. 1

22742751306. 2

22742751307. 3

22742751308. 4

Question Number : 3 Question Id : 22742713171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

amongst ather countries, Switzerland accounted for 25% of the Indian tourist traffic and a total of 25 lakh Indian tourists had gone to
Switzerland during the year, then the number of [30-40) years old Indian tourists who went abroad in that year is

1.18.75 lakh

2 25 lakh

375 lakh

4 50 lakh

Options:
227427513009. 1
22742751310. 2
22742751311.3

22742751312. 4



Question Number : 4 Question Id : 22742713172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

Ifthe total number of Indian tourists who went abroad to countries other than Japan, USA and UK was 3 lakhs in 2022, then what was the
volume of Indian tourists to USAin that year?

1.10lakhs

2.6 lakns

3.6 lakns

412 lakhs

Options :
22742751313 1
22742751314. 2
22742751315.3

22742751316. 4

Question Number : 5 Question Id : 22742713173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

Consider that the total number of Indian tourists who went to Japan in 2022 was 24000. fA s the number of Indian tourists who went o UK and
Bis the number of Indian overseas tourists who were =50 years old then (A, B) =

2000, 25000)
6000, 30000)
7000, 35000)

(
(
(
(6000, 40000)

1.
2
3
4
Options :

22742751317. 1
22742751318. 2
22742751319. 3

22742751320. 4



Question Id : 22742713168 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Sub questions

Question Number : 1 Question Id : 22742713169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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442000

Options:



22742751301.1
22742751302. 2
22742751303. 3

22742751304. 4

Question Number : 2 Question Id : 22742713170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751305. 1

22742751306. 2

22742751307. 3

22742751308. 4

Question Number : 3 Question Id : 22742713171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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22742751309.1



22742751310. 2
22742751311. 3

22742751312. 4

Question Number : 4 Question Id : 22742713172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742751313 1
22742751314. 2

22742751315. 3

22742751316. 4

Question Number : 5 Question Id : 22742713173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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22742751318. 2
22742751319. 3

22742751320. 4

Sub-Section Number : 2
Sub-Section Id : 227427518
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 22742713174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Ateacher’s belief that he or she can reach even the most difficult students and help them leam is called

1. Teacher's knowledge

2. Teacher’s understanding
3. Teacher’s sense of efficacy
4 Teacher's seli-perception

Options :

22742751321. 1
22742751322. 2
22742751323.3

22742751324. 4

Question Number : 6 Question Id : 22742713174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751321. 1
22742751322, 2
22742751323. 3

22742751324. 4

Question Number : 7 Question Id : 22742713175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |: Flip (ICT tool) allows users to record and share short video responses

Statement II: Flip (ICT tool) is primarily used for video discussions and presentations.

In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement || are incorrect
J. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

22742751325. 1
22742751326. 2
22742751327.3

22742751328. 4

Question Number : 7 Question Id : 22742713175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751325. 1
22742751326. 2
22742751327.3
22742751328. 4

Question Number : 8 Question Id : 22742713176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement |- In Jigsaw, each student in a group Is expected to specialize in one aspect of learning task.
Statement Il The major focus of the group investigation strategy is on the development of inquiry skills.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both statement | and Statement |l are correct

2. Both statement | and Statement |l are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options:
22742751329. 1
22742751330. 2

22742751331. 3



22742751332. 4

Question Number : 8 Question Id : 22742713176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751329. 1
22742751330. 2
22742751331. 3

22742751332. 4

Question Number : 9 Question Id : 22742713177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement |: Implicit memory refers to intentional or conscious recollection of information.

Statement [1; Explicit memory refers to memories people are not consciousy aware of. but that can affect their subsequent performance and
behaviour

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both statement | and Statement |l are correct

2 Both statement | and Statement Il are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incomect but statement Il is correct

Options :

227427513331
22742751334. 2
22742751335.3
22742751336. 4

Question Number : 9 Question Id : 22742713177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742751333. 1

22742751334. 2



22742751335. 3

22742751336. 4

Question Number : 10 Question Id : 22742713178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Schuman'’s model 1s an example of which type of teaching model?

- Personal Basis Model

. Behaviour Altering Model
_Information Development Model
_ Social Interaction Model

[

=

Options:

22742751337. 1
22742751338. 2
22742751339.3

22742751340. 4

Question Number : 10 Question Id : 22742713178 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YA Aisd 9 § I 60 TR & 1601 H1Sd &1 36830 & 2

1. AfgaTTd AR Aisd
2. dgR URadd®R] Alsd
3. g1 [ddb1g diea

4 OEIfS® Adfdhar Aisa

Options :

22742751337. 1
22742751338. 2
22742751339. 3
22742751340. 4



Question Number : 11 Question Id : 22742713179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The purpose of theory Is o generate hypotheses that can be tested and that will thereby allow explanation of laws to be assessed. The above
statement refers to the principle of

1. Objectivism

2. Constructionism

3. Inductivism

4 Deductivism
Options:
22742751341.1
22742751342. 2
22742751343. 3

22742751344. 4

Question Number : 11 Question Id : 22742713179 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742751341. 1
22742751342, 2
22742751343.3

22742751344. 4



Question Number : 12 Question Id : 22742713180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The degree to which the measure of a concept truly reflects that concept, refers to

1. Ecological fallacy

2. Measurement validity
3. Ecological validity

4 External validity
Options:
22742751345, 1
22742751346. 2
22742751347. 3

22742751348. 4

Question Number : 12 Question Id : 22742713180 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751345. 1
22742751346. 2
22742751347.3

22742751348. 4

Question Number : 13 Question Id : 22742713181 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Correlation coefficients (r) along with their respective p-values are given. Identify the two most significant correlation coefficients from the
following:

A =077 p=0.25

B.r=061,p=0.01

C.r=0 41, p=0.59

D.1=0.37,p=003

Choose the correct answer from the options given below:

1. Aand B only
2. Aand C only
3. Band D only
4 Cand D only

Options :

22742751349. 1
22742751350. 2
22742751351.3

22742751352. 4

Question Number : 13 Question Id : 22742713181 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742751349. 1
22742751350. 2
22742751351, 3

22742751352. 4

Question Number : 14 Question Id : 22742713182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following test statistics is useful for conducting Analysis of Variance?

1. F
2.1
3. Chi square
4 7

Options:

22742751353. 1
22742751354, 2
22742751355.3

22742751356. 4



Question Number : 14 Question Id : 22742713182 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
22742751353. 1
22742751354. 2
22742751355. 3

22742751356. 4

Question Number : 15 Question Id : 22742713183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According fo UGC regulations 2018 for Prevention of Plagiarism, which among the following similarities would constitute Level 3 plagiarism?
A 38%

B.45%

C. 4%

D.63%

EN%

Choose the correct answer from the options given below:

1. Aand B only
2.8, Cand D only
3.Dand E only

4. Eonly

Options :

22742751357. 1
22742751358. 2
22742751359. 3

22742751360. 4

Question Number : 15 Question Id : 22742713183 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742751357. 1
22742751358. 2
227427513509, 3

22742751360. 4

Question Number : 16 Question Id : 22742713184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The content and the outcome of an interaction together constitute

. Physical order
. Secret order

. Political order
. Textual order

L

F =N

Options:

22742751361. 1
22742751362. 2
22742751363.3

22742751364. 4



Question Number : 16 Question Id : 22742713184 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751361. 1
22742751362. 2
22742751363.3

22742751364. 4

Question Number : 17 Question Id : 22742713185 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

From the communication viewpoint, Adi Shankara's philosophical concept provides primacy to

Personal ego
Materialistic desires
- Self-consciousness
- Social conflicts

[ N

S

Options :

22742751365. 1
22742751366. 2
22742751367. 3

22742751368. 4

Question Number : 17 Question Id : 22742713185 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
22742751365. 1
22742751366. 2
22742751367. 3

22742751368. 4

Question Number : 18 Question Id : 22742713186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following are the two basic psychological functions of intra-personal communication?
A_Internalisation of culturally organised ways of thinking

B. Promotion of leader centric speech

C. Regulation of one’s own mental activity

D. Orientation towards enhancing social disorders

Choose the correct answer from the options given below:

1. Aand B only
2 Aand C only
3. B and C only
4 Cand D only

Options:

22742751369. 1



22742751370. 2
22742751371. 3
22742751372. 4

Question Number : 18 Question Id : 22742713186 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742751369. 1
22742751370. 2
22742751371.3

22742751372. 4

Question Number : 19 Question Id : 22742713187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:

Statement |- In mass communication, ihe message is rapid and public

Statement [I: New technology has blurred the distinction between inter-personal communication and mass communication
Choose the correct answer from the options given below:

1. Both statement | and Statement Il are correct

2. Both statement | and Statement [ are incorrect
3. statement | is correct but statement Il is incorrect
4 statement | incorrect but statement Il is correct

Options :

227427513731
22742751374. 2
22742751375.3
22742751376. 4

Question Number : 19 Question Id : 22742713187 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742751373. 1

22742751374. 2



22742751375. 3
22742751376. 4

Question Number : 20 Question Id : 22742713188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List -1 List -1l

(Communication model) |(Description)

A Linear |. Communication as interaction

B. Circular II. Communication as transaction

C. Mon - Linear 1. Model of Communication models
D. Meta V. Communication as action

1. A-ILB-IlLC-Ill,D-IV

2ZA-IILB-IILC-IV D-
JA-IILB-V,C-1,D-I

I

A-IV,B-I,C-1l.D-1l

Options :

22742751377. 1
22742751378. 2
22742751379. 3
22742751380. 4

Question Number : 20 Question Id : 22742713188 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



! - &1 g - gHfad Pt

It -l It -l

(FEm JisT) @ui)

A TEHT |. VT, ST [ohdT & &9 |
B. 9@ Il S, TH-g & BH H

C. TRy I11. TS0 "igal @ "Aisd

D. aff¥ (#Fem) IV, EIY0 & % w0 §

d feu e famedl | ¥ wgl SR g :

1.A-1,B-1I,C-lll, D-IV
2 A-1ILB-ILC-IV,D-I
3A-IILB-V,C—-1.D-I
4 A-IVB-1,C—II,D-1I
Options :

227427513771
22742751378. 2
22742751379. 3

22742751380. 4

Question Number : 21 Question Id : 22742713189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

It takes 10 men to finish a work In 2 days. Four (4) men started to execute the work but after one (1) day. 3 of them left, How many days it will
take the lone man to finish the remaining work?

Options :

22742751381. 1
22742751382. 2
22742751383.3

22742751384. 4



Question Number : 21 Question Id : 22742713189 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
T &7 e A T 5 10 Rt 14 W 5 e ol 6 0 o 0 79 93 916 0 ) WO A
T 0 X9 7 1 T G A et Fd i 2

Options:

22742751381. 1
22742751382. 2
22742751383.3

22742751384. 4

Question Number : 22 Question Id : 22742713190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a certain coding scheme

‘India is a growing economic power in world' is writen as ‘ba, fa, ga, si, na, wa, ta, mo’
‘Population of India is growing' is written as ’ja, ka, ba, si, ga’

‘Culture of India is soft power’ is written as ‘sa, ka, si, ba, la, wa’

What are the codes for ‘power’ and “of ?

1. wa, ka
2.wa, ba
3. ka, ba
4 wa, si

Options :



22742751385. 1
22742751386. 2
22742751387.3
22742751388. 4

Question Number : 22 Question Id : 22742713190 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
CAGPREStER
Ry Are em e ufdd e @l o1 GBI M @ 1 I a1 AT & TUH GEr S g,

‘YR & T9E IHAF & &1 1 &1 & O M@ U H e aar g,

YR S GPpid Jg o o' DI F1, D198, & &0 H @1 <ar g,
Widq 9 Br AL F P g 2

1.9 ®I
2.9 d
3. @I dl
4 91 i

Options :

22742751385. 1
22742751386. 2
22742751387.3
22742751388. 4

Question Number : 23 Question Id : 22742713191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find the missing term in the following letter series

AMZ, BLY, CNX, DKW, EOV, ............7?

L =
M
=

o
2]
A
ey

Options :

22742751389. 1
22742751390. 2
22742751391. 3

22742751392. 4

Question Number : 23 Question Id : 22742713191 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
9 21&R @ H Il Ug &1 Gl TRy ;

AMZ, BLY, CNX, DKW, EOV, ............7?

R
M
=

e
T
A
ey

Options:

22742751389. 1
22742751390. 2
22742751391.3
22742751392. 4

Question Number : 24 Question Id : 22742713192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 2 Wrong Marks : 0

Time taken by & motor boat moving downstraam in a river to cover a distance and time taken by the motor boat to cover the same distance
upstream are in the ratio of 3. If speed of stream i 10 km/hr what is the speed of boat?

1.20 km/hr

225 kmihr

330 kmihr

4 40kmihr

Options :
22742751393. 1
22742751394. 2
22742751395. 3

22742751396. 4

Question Number : 24 Question Id : 22742713192 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

% TR 101 1 0 ST o % U G 0 e 9 4 ST e o o 0 5 ) 1 0 35 6 o & 81 G ¢
B 106 A et o o i ol 2

1. 20f6 ¥
2 25 fH g
3 0fad g
4 40fH ) da
Options :
22742751393. 1
22742751394, 2
22742751395, 3

22742751396. 4

Question Number : 25 Question Id : 22742713193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
A Person sells an item at a discount of 40% and still makes a profit of 20%. By what parcentage was the marked price of the item more than the

cost price of the item?

1.50%

2.100%

3.150%

4 120%.

Options :
22742751397. 1
22742751398. 2
22742751399. 3

22742751400. 4

Question Number : 25 Question Id : 22742713193 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T idkt U %] 1 40% 6 R Fopt e 20% T ol et 31 g TR ffhd 5 S e Hcd  fe Wi offid 412

1.50%

2.100%

3.150%

4.120%

Options :
22742751397. 1
22742751398. 2
22742751399. 3

22742751400. 4

Question Number : 26 Question Id : 22742713194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (I): Afallacy is a defect in an argument that consists of something other than merely false premises
Statement (1) fan argument is unsound or uncogent, it has one or more false premises, or it contains a fallacy or both
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (I) and Statement () are true.
2 Both Statement (1) and Statement (I1) are false.
3. Statement (1) is true but Statement () is false.
4 Statement (1) is false but Statement (11) is true.

Options :

22742751401. 1
22742751402, 2
22742751403. 3

22742751404. 4

Question Number : 26 Question Id : 22742713194 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Riafimg

0% . 0 0 o 3T 1 o R o RT3 30 ST g g

O I O s s 1 oS 8, 8 U 1 O ST SR Bl 1 b QN et & 11 9 G e gl
H
SR e o e F LT e & e S R 1 e i

1. 3% | 4R | 3 T 2

@ | 4R I 3H w2l

3. 00K | 0 5 o e | 3D 2
4. O | 0 § o & 1| 0 21
Options:
22742751401. 1

22742751402. 2



22742751403. 3

22742751404. 4

Question Number : 27 Question Id : 22742713195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is arranged in order of decreasing connotation?

1. Instrument, musical instrument, string instrument, violin
2. Violin, musical instrument, string instrument, instrument
3. Violin, string instrument, musical instrument, instrument
4 Instrument, string instrument, musical instrument, violin
Options:

22742751405. 1

22742751406. 2

22742751407. 3

22742751408. 4

Question Number : 27 Question Id : 22742713195 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T # & 3 7o & ved §Y o A orafua § 2

1. 47, Tfld areda, ot aredd, oo
3. dafeH, ddl aregd. S@iid 9ed, 93
4. TF, I dreds, T aredE, i

Options :

22742751405. 1
22742751406. 2
22742751407. 3

22742751408. 4



Question Number : 28 Question Id : 22742713196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) A valid deductive argument cannot have all true premises and a false conclusion
Statement (Il): The concept of truth cannot be applied to arguments

In light of the above statements, choose the most appropriate answer from the options given below.

- Both Statement (1) and Statement (1) are true.
- Both Statement (1) and Statement (Il) are false.
_ Statement (1) I1s true but Statement (1) is false.
~Statement (1) Is false but Statement (I1) is true.

o fa —

o

Options:

227427514009. 1
22742751410. 2
22742751411.3
22742751412. 4

Question Number : 28 Question Id : 22742713196 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



ey

&Y | Tt ay FemTers gidd & 9l snuRar 9 ud fshy 3w T8l 81 ¥dd 8l

&Y |I: O &1 Yhed gidad W H0gad ol &l obdl ¢l

SR &Y & e § Hid {80 70 @l § 1 9ad Iugdd IR &1 99 Bifo

1. B4 | R 11 EHI 9 B

2. @Y | AR || &H 9 B

3. ®Y | d © fohd HYH 1l Ud B
4 HYF | A [ HY 1| T B
Options :

227427514009. 1

22742751410. 2
22742751411. 3

22742751412. 4

Question Number : 29 Question Id : 22742713197 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

“[fyou love hot cakes and you love ice creams, then you will surely love hot cake ice cream”. Which fallacy is commitied in the above argument?

1. Fallacy of composition
2. Slippery slope

3. Fallacy of division

4 Hasty generalization

Options:

22742751413. 1
22742751414. 2
22742751415.3

22742751416. 4

Question Number : 29 Question Id : 22742713197 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Uf ST T 6 A ST G &, 0! R U 3 5 S G e ST S 9 W e R g
1. el am
). e I

1 [TR
4 HaIRd G

Options :

22742751413.1
22742751414. 2
22742751415.3

22742751416. 4

Question Number : 30 Question Id : 22742713198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1): Nyaya syllogism has three propositions and five terms

Statement (I1): Aristotelian syllogism has three propositions and three terms

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (1) are true.
2 Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (I1) is true.

Options :

22742751417.1
22742751418. 2
22742751419. 3

22742751420. 4



Question Number : 30 Question Id : 22742713198 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
R PRy

DY |- UG =g H i+ Ufdaieral 3R uid ug gid |

B || SREaTS] e § Ji- ufagiaar iR §i7 ug 8id &

o

ifad Aol & ¥ 98 ST

SWdd YAl & Heid | g

1. HYF SR GH Gd gl

2 TYF | 3R 1| GHf T &

3. &Y | 9 ¢ fhd DU 1 A B
4 TYF | 3T & fhg A 1 9T @
Options:

22742751417. 1

22742751418. 2

22742751419, 3

22742751420. 4

Question Number : 31 Question Id : 22742713199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the base — 10 number 100. In base — 6, it would be represented as

Options :
22742751421. 1

22742751422. 2



22742751423. 3

22742751424. 4

Question Number : 31 Question Id : 22742713199 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
YR (99) - 10 P U= 100 ST R -6 H g8 A9 T 1 feog ¥4 § yefid gift 2

Options:

22742751421. 1
22742751422. 2
22742751423.3

22742751424. 4

Question Number : 32 Question Id : 22742713200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Wiki is usually in some form of chronological order and postings tend to be short in length
Statement (I1): Amobile phone (cell phone) primarily uses flash memory

In light of the above statements, choose the most appropriate answer from the options given below.

1. Both Statement (1) and Statement (I1) are frue.
2. Both Statement (1) and Statement (Il) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (Il) is true.

Options :



22742751425.1
22742751426. 2
22742751427. 3

22742751428. 4

Question Number : 32 Question Id : 22742713200 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o ey

&Y | R ¥ 4 fao! fodl yeR & Srarm e ¥ 1 gidl 8 R Ui awars § 81 gidl 8

Y |I: HiEIZd B (Sd BF) Teid: Hi¥ 3R &1 §ai oidl g |

e O

IuUH B & el § Ffaiad fdodl § ¥ gl SW 3

1
3

1. Y| IR 11 TH T B

2 ®YF | AR I gHI 9d 5

3. B | 9 ¢ foog YA |1 30T B
4. B | 3T & g Y || TA B |
Options :

22742751425. 1
22742751426, 2
227427514273

22742751428. 4

Question Number : 33 Question Id : 22742713201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements:
Statement (I): RFID is the use of fingerprint scans, retina scans, face identification, etc as & way of indentifying & person uniquely.

Statement (1l): The website using the streaming method to deliver video means that the video can be played while it is being downloaded and
acccordingly less time is requried before users can view the video

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) is true.

Options :

22742751429. 1
22742751430. 2
22742751431.3

22742751432. 4

Question Number : 33 Question Id : 22742713201 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T3 o R

2 | ot 1 TR0y 0 8 G 0 o 0 70 & U o 10 S, 0 65, 1 U, T 1 T R 06 9 1

00 I T o T oo e (R o i e 1 o] & o 1 T3 St o o X1, 30 et o el & o
GO AR e 1 ¢ W § O A 0 T o

T T 3 A e el A 9 R o g

1.3 |91 3H T

) B 4R 11 EH T

3 | TS TH 3 || 9 2
4 T | S 8 For 72 1| 0 2
Options:
22742751429. 1

22742751430. 2



22742751431. 3
22742751432. 4

Question Number : 34 Question Id : 22742713202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are frue?

1. One of the main advantages of ROM is that the information stored on the ROM chip is not lost even when the power to the computer is tumed
off

2. ASClIis an acronym for American Standard Code for Intelligent Information

3. Compared to desktop computers, laptop computers are portable since all its components are together in one single unit

1. Aand B only

2. Aand C only

3. Band G only

4 ABandC
Options:
22742751433. 1
22742751434, 2
22742751435. 3

22742751436. 4

Question Number : 34 Question Id : 22742713202 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Eue R R e R

A 3R ¥ T 31 T T8 T4 T2 & 10 o 30l 00 ot R iR a1, g 1 o o s 3 o G o @ e e g
B UTHH! o5 &% e g8 HIE B gecluc BNANA @1 §3W T g

C. eI B! 1 e A Uy HU TRl BId & i 390 940 90 06 T 9 41 @R A el ¢

id RO 0 fomedl # Y W TR

1 FIAAIRB
2 BIAAINC
3 B30B IR C
4ABIRC

Options :

227427514331
22742751434. 2
22742751435.3
22742751436. 4

Question Number : 35 Question Id : 22742713203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

List | (Usge) List Il (Appropriate Input Device)
A. To select options from a list |. Keyboard
B. To type data into a database Il. OMR

C.To input candidate's MCQ answer marked in pre-determined positions|lll. Chip Reader

D.To input data directly from a bank card V. Mouse

1LA-ILB-IILC-1,D-IV
2A-ILB-1,C-1,D-IV
JA-IVB-I,C-IlLD-1I
4 A-IV,B-Il.C-1,D-1I
Options :
22742751437.1
22742751438. 2

22742751439. 3



22742751440. 4

Question Number : 35 Question Id : 22742713203 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gt | &l Gl 11 ¥ gHfed Pife :

T - ST qﬁ; L
A T get § fgsedl & 999 8  E e

B. STeTed H SIET €50 &g 1. 3T T AR

c. [@ Fuifa saffeal § spaff g o m dt ey .

IR & R g . e dse

D. 91 3% &18 § Sl FHaeH &g N

I leu e fasedl o O UE 3R g

1.A-1I,B-Il,C-I, D-IV
2 A-1I,B-1,C-1l, D-IV
3A-IV,B-1,C-Il, D-1l
4 A-IV,B-Il,C-I, D-1
Options :

22742751437.1
22742751438. 2
22742751439. 3

22742751440. 4

Question Number : 36 Question Id : 22742713204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In which one of the following Conference of Parties (COP) Kyoto protocol was adopted?

1. COP -1
2.COP-3
3.COP-7
4 COP-10



Options :

22742751441. 1
22742751442, 2
22742751443, 3

22742751444. 4

Question Number : 36 Question Id : 22742713204 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
I Uieidid @ HafcRad H ¥ fog o6 b ureie (3 3 i) 8§ SFiaR fagr 7/ 412

1.4 3t - 1
2 Wafdi-3
3 Wad-7
4 T afdi-10

Options :

22742751441. 1
22742751442. 2
22742751443.3

22742751444. 4

Question Number : 37 Question Id : 22742713205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

If a water body is healthy and supports no significant biological activity, then its condition is called as

1. Hypotrophic
2. Mesotrophic
3. Eutrophic

4. Oligotrophic

Options :



22742751445.1
22742751446. 2
22742751447. 3

22742751448. 4

Question Number : 37 Question Id : 22742713205 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tt Pl il Mo WG & IR 39 Pis Hecaqul widd a1 Te) a1 Ul 8, 1 59 fuf & o g oI 82
2. 99 gl

4. Tyl

Options :

22742751445. 1

22742751446. 2

22742751447. 3

22742751448. 4

Question Number : 38 Question Id : 22742713206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



To qualify as hazardous waste, a waste must have the following characteristics:
A Ignitability

B. Corrosivity

C. Reactivity

D. Toxicity

E. Radioactivity

Choose the correct answer from the options given below:

1. A, CandD only
2.C,DandE only
3.A B, CandE only
4 AB C DandE

Options :

22742751449. 1
22742751450. 2
22742751451.3
22742751452. 4

Question Number : 38 Question Id : 22742713206 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G S(URY $e S & e feedt srufdiy # 7 fagiwan gt =mfee -
A SaTiadr

B. H&Radl

C. SifHigaritean

D. fauraan

E fsarafeaan

I feu U fapedf § © el SR T -

1. BadA C3RD
2 ®add C, D3RE
3. ®dd A B, C3RE
4 A B C D3RE

Options :

22742751449, 1
22742751450. 2
22742751451.3

22742751452. 4

Question Number : 39 Question Id : 22742713207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) Acid rain occurs within, and downwind of areas of major industrial emissions of sulfurdioxide and oxides of nitrogen.
Statement (I1): Long range transport of airborne pollutants can be responsible for acid rain in areas far off from industrial imissions.
In light of the above statements, choose the most appropriate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (1) are false.
3. Statement (1) I frue but Statement (1) Is false.
4 Statement (1) Is false but Statement (1) is true.

Options:



22742751453.1
22742751454. 2
22742751455. 3

22742751456. 4

Question Number : 39 Question Id : 22742713207 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Hiwrakum?
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| B3R G T 2

) FH IR THI T B

3. O | T & fiq O || O ¢
4 O | 3 & foq 7 1| Tl g
Options :
22742751453 1
22742751454, 2
22742751455. 3

22742751456. 4

Question Number : 40 Question Id : 22742713208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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‘Life below water’ pertains to which of the SDGs?
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Options :

22742751457. 1
22742751458. 2
22742751459. 3

22742751460. 4

Question Number : 40 Question Id : 22742713208 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742751457. 1
22742751458. 2
22742751459. 3
22742751460. 4
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Ujjain, in ancient India, was famous for the study of

1. Veterinary science
2. Chinese philosophy
3. Astronomy

4. Community work
Options :
22742751461. 1
22742751462. 2
22742751463. 3

22742751464. 4

Question Number : 41 Question Id : 22742713209 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742751461. 1
22742751462. 2
22742751463.3

22742751464. 4
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The National Knowledge Commission recommended ‘needs-blind admissions’ for

_ National universities

_ State universities

_ Private universities

. Foreign universities operating in India
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Options :

22742751465. 1
22742751466. 2
22742751467. 3

22742751468. 4

Question Number : 42 Question Id : 22742713210 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AP FH AT A 99 F U {68 A0 axgad- U Uder S Sl &1 2

1. AP1E fayfaered
2. g fayfdeey
3. el fayfaenay

Options:

22742751465. 1
22742751466. 2
22742751467.3

22742751468. 4
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Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



The Education/Despatch of 1554 suggested professional training in
A Library science

B. Law

C. Medicine

D. Civil Engineering

E. Material science

Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 A B andE only

Options :

22742751469. 1
22742751470. 2
22742751471.3
22742751472. 4

Question Number : 43 Question Id : 22742713211 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742751469. 1
22742751470. 2
22742751471. 3

22742751472. 4

Question Number : 44 Question Id : 22742713212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A policy frame work developed by the UGC in 1978 suggested

A Closure of private universities.

B .Increase in the number of universities.

C.Support for high quality experimental research.
D.Discontinuation of autonomous colleges.

E Introduction of inter-disciplinary courses at under graduate level.
Choose the correct answer from the options given below:

1. A, B and C only
2. B, CandD only
3. C,Dand E only
4 B, CandE only

Options :

227427514731
22742751474. 2
22742751475. 3
22742751476. 4

Question Number : 44 Question Id : 22742713212 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751473. 1
22742751474, 2
22742751475. 3

22742751476. 4

Question Number : 45 Question Id : 22742713213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



(iven below are two statements:

Statement (I): According to the National Education Policy 2020, teaching duties wil be more, and student-teacher ratio will be high, and facutty
will be generally transferable across institutions in the country.

Statement (11): According to the NEP. 2020, faculty will be given the iiberty to design heir pedagogical approaches for innovative teaching and
research

In ight of the ahove statements, choose the most approprate answer from the options given below

1. Both Statement (1) and Statement (1) are true
2. Both Statement (1) and Statement (11) are false.
3. Statement (1) is true but Statement (1) is false.
4 Statement (1) is false but Statement (1) s frue

Options :

227427514771
22742751478. 2
22742751479.3

22742751480. 4

Question Number : 45 Question Id : 22742713213 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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22742751478. 2
22742751479. 3

22742751480. 4

Sub-Section Number : 3
Sub-Section Id : 227427519
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Id : 22742713214 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the below passage and answer the following questions

Climate change and its imperatives across the globe have moved beyond the immediate compulsions of rising mercury levels on planet Earth It
is today a debate among nations on geo-politics and the shift in economic balance from the developed countries to the emerging economies. The
rhetoric by global leaders thus needs to be taken with a pinch of salt for it s not all about climate change concerns. The changing axis of
economic power to the East and emerging countries of Asia will perhaps take & while to sink In. Developing economies like India are just
beginning to take baby steps on the global stage and industry and entrepreneurship will have fo go & long way. Millions of households in India
still have to depend on firewood and kerosene to light up their homes even as scores of Indians die every year for want of basic health amenities.
The priority for suich & nation is meeting basic needs, providing food. health and education rather than spending large portions of its GDP on
importing technologies to cut emissions. India nesds to do ts bit, but on its own terms and at its own pace.

Sub questions

Question Number : 46 Question Id : 22742713215 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The main focus of the passage in on

1. Climate change and its impact

2. Climate change and geopolitics

3. Climate change and developmental imperatives
4. Climate change and mitigation strategies

Options :

22742751481. 1
22742751482. 2
22742751483.3
22742751484. 4

Question Number : 47 Question Id : 22742713216 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What are the problems faced by developing economies like India?

A They are extremely poor

B. Many people in India lack basic health amenities

C.They are extremely rich

D .Millions of people still depend on firewood and kerosene to light up their homes
Choose the correct answer from the options given below:

1. A, Band D only
2. B and D only
3. B, Cand D only
4 Aand D only

Options :

22742751485. 1
22742751486. 2
22742751487.3

22742751488. 4



Question Number : 48 Question Id : 22742713217 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What should India first and foremost focus on?

. Developing indigenous technologies to cut emissions
. Importing technologies to cut emissions

. Provide food, health and education to its people

. spend large sums of money to cut down emissions

L
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Options :

22742751489. 1
22742751490. 2
22742751491.3
22742751492. 4

Question Number : 49 Question Id : 22742713218 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following facts related to climate change are true?

A The global leaders are indifferent to the issue of climate change

B.The climate change talks are sometimes directed towards political and economic gain rather than climate change
C.Itis about the shift in economic balance from the developed economies to the emerging economies

D Developing economies like India can afford to spend large sums of money to cut emissions

Choose the correct answer from the options given below:

1.Band C only
2.A BandConly
3.B,Cand D only
4 Aand D only

Options :

22742751493. 1



22742751494. 2
22742751495. 3

22742751496. 4

Question Number : 50 Question Id : 22742713219 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements:

Statement (1) India should take measures to cut down emissions but not at the cost of development.
Statement (I1): India should ban the use of firewood and kerosene and opt for cleaner fuels.

In light of the above statements, choose the most appropriate answer from the options given below

. Both Statement (1) and Statement (1) are true

- Both Statement (1) and Statement (1) are false.
- Statement (1) Is true but Statement (1) is false.
- Statement (1) is false but Statement (1) is true
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Options :

22742751497. 1
22742751498. 2
22742751499. 3

22742751500. 4

Question Id : 22742713214 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Correct Marks : 2 Wrong Marks : 0
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Options :

22742751481. 1
22742751482, 2
22742751483.3

22742751484. 4
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751485. 1
22742751486. 2
22742751487.3

22742751488. 4
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:
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22742751494, 2
22742751495. 3
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22742751520. 4
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Question Number : 59 Question Id : 22742713228 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

[O5F SIS FIRAT S5 W Vo 29ALNd (I-FIFord, (6 =4 -

] %EE =]

2. oA

3. W4 Ea*‘!%‘a. S
4. SIATS!
Options :
22742751533. 1
22742751534, 2

22742751535. 3



22742751536. 4

Question Number : 60 Question Id : 22742713229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

— ST SO OF PR I *TE & @S (F-7]6 AT 07 9o Sl 200E, (96 24

1,40 3 44

2 (NI Tw

3. W9 § e

4 5 8 T
Options :
22742751537. 1
22742751538. 2
227427515309. 3

22742751540. 4

Question Number : 60 Question Id : 22742713229 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

— FREHE ST 09 FIROT JIF *TE & @S (I700 [T 0 Gotw Sl T, (770 24

1. 45 8 §°

2 (Y 8 O

3. WYY 8 AT

4. 95 8 B
Options :
22742751537. 1
22742751538. 2

22742751539. 3



22742751540. 4

Question Number : 61 Question Id : 22742713230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(g (M- SN BIROTT (9O YO TN L (TS0 P PLB A, (716 2

1. 4 990 909 (P

2. A 5L ST Wi

3. COTHTd P (22 (= (9] 907 =1
4.9 b (wafei 7S &Y oG e
Options :

22742751541. 1
22742751542, 2
22742751543, 3

22742751544. 4

Question Number : 61 Question Id : 22742713230 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e (73 9 IR (1S [RATSTR SR S (351163 S FR e, (i =4

1. 493 A9 (F

2. FJ 5L AT

3. CoTaTd BT (RYT (P2 (9] e =T
4 9 (30 B BY oG v
Options :

22742751541. 1
22742751542. 2
22742751543, 3

22742751544. 4



Question Number : 62 Question Id : 22742713231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

STO Teq BIOTT T FSIAE SIS 7ib [{TerEe =1 -

1. SfoNTl & A
2 dF 8 FAE

3. 30T 8 Geis
4. =T & \BFO
Options:
22742751545, 1
22742751546. 2
22742751547. 3

22742751548. 4

Question Number : 62 Question Id : 22742713231 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST ST SO S SFSUIT AR A5 [0y =47

1. WfoT & 4%
2 I8 FA

3. 397 & GI%
4 < 8 TE@e
Options :
22742751545, 1
22742751546. 2
22742751547. 3

22742751548. 4



Question Number : 63 Question Id : 22742713232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o aE T T A W A1
MIEHIEE RGBT Q4T (3- TS T A0 T4E1E $U 34 2L, 91 54

1. BT OfS
2. B
3. (TG PLTH ALY

Options :

22742751549. 1
22742751550. 2
22742751551.3
22742751552. 4

Question Number : 63 Question Id : 22742713232 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o IE TS ey AR FW G
RSHIHA RIS GANIT G4 (I-TERE0 Mg AP A4 S e AR, O 26 |

1. 2O [0l S
2. TR I
3. (QIGHIY FLerd 100

Options :

22742751549. 1
22742751550. 2
22742751551. 3

22742751552. 4



Question Number : 64 Question Id : 22742713233 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

=

TN N0 2008 (BTN Nodiz =1 IR
‘A2 AfS*ES BHANI 4% FTssfel qrafaa

2 FAEE FEIIS

3. NAP NI FOIOIP

4 drise Al oI E

Options :

22742751553. 1
22742751554, 2
22742751555. 3
22742751556. 4

Question Number : 64 Question Id : 22742713233 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

—

“STIE N 25 COTIS lu '1‘&1 AL AR

2. W*%% It

3. AP Ao

4 IOl TOTTeE

Options :

22742751553. 1
22742751554, 2
22742751555, 3
22742751556. 4



Question Number : 65 Question Id : 22742713234 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“Yq 001 I RIS (AT O IS TG ATI 1"
OGS ZfOFAT BN WAL 5 BfH(G [F00 (5% I wd MR -

1. TG0 GBIl
2. IS0 G

3. WG Bl
4 EB[Gd G i
Options :
22742751557. 1
22742751558. 2
22742751559. 3

22742751560. 4

Question Number : 65 Question Id : 22742713234 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

“[d qUGI 401 B9 (MET Ufe =TI Fgey AT
“OANIHE RfOPAT BHNIT WAl 5 RS [FA0o (517 96 vd MR -

1 A& GI<el
2 HATS BIP

3. WU BIP
4 -=.'-'S. ﬁ G G
Options :
22742751557. 1
22742751558. 2
22742751559. 3

22742751560. 4



Question Number : 66 Question Id : 22742713235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘4% SN W8I T (AT G0 I Gidel”
SO GFIG A VT SANIT BT 4 (F-5F ST I A, (716 =247

1. 1% OIS ¢S, SINTF =1 TSt s

2. % =5 7@ I wrsnde! 1

3. & BiR (5T1F ST 1 *11G

4. YT (3-9If 5TF (51-Nf® 4. (F (O (AT
Options :

22742751561. 1

22742751562, 2

22742751563. 3

22742751564. 4

Question Number : 66 Question Id : 22742713235 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘4% S TSI I (TAATH GO P G ded |”
TowrT 416 AR AT BATIS WP L (-5 P I AACR, (716 =44 -

1. 1% GCST (51, STAF &1 Gesn (o1

2. 3® TG g TF ©I50a0!

3. & BN (51T ST 11

4. X1 (I-9f@ 517 (111 F4, (F (DTN (T
Options :

22742751561. 1

22742751562. 2

22742751563. 3

22742751564. 4



Question Number : 67 Question Id : 22742713236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ QY HIALYLF (7 01 20 TS
*GIF Sg 92 Olod 981 -

1. PP

2. OGo 43

3. AT AN qr.al
4. X+

Options :

22742751565. 1
22742751566. 2
22742751567. 3
22742751568. 4

Question Number : 67 Question Id : 22742713236 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ QYN WYL (TP U0 20T ST
®ENT 910 4% Bferd 9 |

1. =

2. WGre 43

3. QTG TR qrat
4 T

Options :

22742751565. 1
22742751566. 2
22742751567. 3

22742751568. 4



Question Number : 68 Question Id : 22742713237 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

G AGBI] [T |
CHFI-neT g DTN *[ATF (Y50 90, O *e ¢

2 ST vreiea
4. 5 I

Options :

22742751569. 1
22742751570. 2
22742751571.3

22742751572. 4

Question Number : 68 Question Id : 22742713237 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G TGFF] [T |
COPITWE 51F TITFA WATZIA (Y9 T, O 2 ¢

y B DG RAGI R
4. 5O I

Options :

22742751569. 1
22742751570. 2
22742751571. 3

22742751572. 4



Question Number : 69 Question Id : 22742713238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘(I .99 7 (72 I (2 G (7%
f5raf3if% sng 9= FUeg SmE 95t &

1. QAR G-
2. XTFIE CBICY ITF (o TdT 518
3. BLINAE G HsTg

Options :

22742751573.1
22742751574. 2
22742751575. 3

22742751576. 4

Question Number : 69 Question Id : 22742713238 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘(T 47 TFF (W2 32 (2 Gl (2
Toraf5i® STy QU= U GWE 98I0 2o

1. G G-I
2. NTHE (510 I1F (V11 518
3. BUINAE GHMIP WN9M]

Options :

22742751573.1
22742751574. 2
22742751575. 3

22742751576. 4



Question Number : 70 Question Id : 22742713239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘YN & FIe1% Y Ol AT
S AT MG A4 FAFD Ging T8I0 247 -

1. IGAIE 1Y

2. AGAIA T4 8 (A=

3. AGAIE 20O (FAE (a1

4. FGAIE 90gd fouf wrer fdtes a9+

Options :

22742751577. 1
22742751578. 2
22742751579.3
22742751580. 4

Question Number : 70 Question Id : 22742713239 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘YN 8 P2 AYN O AT
ST SIS 510E AU PATHD BIME I8/ 261

1. AGIE T

2. GG 1N 8 (A=

3. GG 20OF (A (Gdl

4 AGAIE 9 BN e TifEre a9

Options :

22742751577. 1
22742751578. 2
22742751579. 3

22742751580. 4



Question Number : 71 Question Id : 22742713240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ T TR OO (OIN198 g S (FEI"
TR BRI FOLE AU YT 9% Gierd I91 8 GimE ==

1. A5 MT% & G~
2. 5% 8 (Tl F
3. A & TS

4. 3 @ foaea

Options :

22742751581. 1
22742751582. 2
22742751583.3

22742751584. 4

Question Number : 71 Question Id : 22742713240 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ (A 2(HR Y99I (OTN1ES8 [Fg S (FE]"
LRI SFAEIT WGP ALY GO 492 B9 99T 8 BB 24,

1. 5% & Gig~eTe
2 WSS 8 (T AF
3. @ S s

4. % 8 foawsa

Options :

22742751581. 1
22742751582. 2
22742751583. 3

22742751584. 4



Question Number : 72 Question Id : 22742713241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ G MEAd 91 fmraeg )
oI ST NGIFT g8 A (T-A6E A=HE O2 T 6] Z(I(Y, O AT

ST A6
LEW [JAIAAL A16S
B ED E3

Lo k=

P

Options :

22742751585. 1
22742751586. 2
22742751587.3
22742751588. 4

Question Number : 72 Question Id : 22742713241 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ A AI6P MRAd 91 Mgl
oI ST NG A8 e (A6 AP G2 P eIl Z(I(Y, O AT

1. STGHI% NIGP
2 @F [ N6E
4. fooTg NG

Options :

22742751585. 1
22742751586. 2
22742751587. 3

22742751588. 4



Question Number : 73 Question Id : 22742713242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘@ YAl (5 AT 5=

(T (AN T (LR (LTS 2T

TG §IALT AT, (AT =T ATy (g 1
‘22 {12 AL 46 (I BlHtad G, (o 2= -

1. 8l
2. Ff
3 AN IT
4 o 3@

Options:

22742751589. 1
22742751590. 2
22742751591.3
22742751592. 4

Question Number : 73 Question Id : 22742713242 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

PO NA (12 WiHE ==

(T (FEEN S (LR (A0S T

TG HIACTH AALF, (I *TF AR (g 17
‘22 A1 NG A6 (T 6fatad e, fofa 20e= -

1. I
2
3 YN IA
4 o 3

Options :
22742751589. 1
22742751590. 2



22742751591. 3

22742751592. 4

Question Number : 74 Question Id : 22742713243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AR WGLFF (TS JOOT 516-CHITG T1F 5% (G, (5 =4

1. 9=USGE

2 999

3. (P M

4 S
Options:
22742751593. 1
22742751594, 2
22742751595. 3

22742751596. 4

Question Number : 74 Question Id : 22742713243 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

WG AHIIPT (17 U= S1E-(RI0S M 91F 05109, (K =

1. SRS

2. 9449P9

3. (P N

4. f51arG;
Options :
22742751593. 1
22742751594, 2

22742751595. 3



22742751596. 4

Question Number : 75 Question Id : 22742713244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y (HI4A1d S90S 2TH0 = ((T4HT -

1. *FoE RO AW N WS Afoorge
2 #MSF AROI-AAANITS Torifog Sfoerge

3. #I@od RO _AFIANIT® AT Wfoergd

4 #E2F MO ATANTS WZAFF Afoorg

Options :

22742751597. 1
22742751598. 2
22742751599. 3

22742751600. 4

Question Number : 75 Question Id : 22742713244 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Y (BT OIFobH ATF0G =9 ((40F -

1 S TR AANIT 4 Wodd Woorsd
2 *EoF ARt Jorefod Sfoersd
3. #MEoF ARG AT TSI W eorge

="

4. G STROT ST WP WSO

Options :

22742751597. 1
22742751598. 2
22742751599. 3
22742751600. 4



Question Number : 76 Question Id : 22742713245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"G AG] AEARICHT JH] (Pl PG GIHRTE =FH A1
— GHYfeGa o1 (299 (AT (V99 =([R, (76 =1 ;

1. I NG A6

2. 7o B 58

3. Il oIy

4 ST5T & 5T (T4 & Gfossl Se)
Options:

22742751601. 1

22742751602. 2

22742751603. 3

22742751604. 4

Question Number : 76 Question Id : 22742713245 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“ = WGT AT WH] (P G2 AN ZI A
— GuYieiod TS (F-29% (A= (NS 20AR, G =4 -

1. TG H G55

2. o Y[ 5G]

3. dIHF] ol

4 ST 8 ST5T) (T4 8 GIfossd Sy)
Options :

22742751601. 1

22742751602. 2

22742751603. 3

22742751604. 4



Question Number : 77 Question Id : 22742713246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT TPAPIH (A-HIPIF (191 F7H P — W (] A — WP A |
— TNEI G0 T (F-2TF (AP (8T AW, O =7 -

1 GianTE dArmY
2 OIS NFHOT T
3. FAEAIY & TeITEF

4 "-B'-E.'.‘:IEE %. *

Options:

22742751605. 1
22742751606. 2
22742751607. 3

22742751608. 4

Question Number : 77 Question Id : 22742713246 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

FAGAY GFAPE (TP #7571 FoH T — R (0] T — T PG|
— GHLEE U6 A7 (T2 (U0 (FST WY, O =6

R ECIDEIECIRTIE
2. OIS NsFod T
3 JAHAIY & TuITEF

4 "-Eﬁﬁ:;i‘ %. *

Options :

22742751605. 1
22742751606. 2
22742751607. 3
22742751608. 4



Question Number : 78 Question Id : 22742713247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS 0T O TS GIEeT 3059 W Ol 3 20 TF PR (3 92 [igd donss! (4% OfF ISR

1. AT TN TR FAE
2 TATIHRS W TeHR F9|

3 TROTHRUR O S0 1% W54 30
4 G el Ry 2 ¥ $9)
Options:

227427516009. 1
22742751610. 2
22742751611. 3

22742751612. 4

Question Number : 78 Question Id : 22742713247 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

DT T Ol T G JE0T S o9 5 3 I SR (% 38 RIGg Tels (003 i 94qd

1. AR TP TR T4
D WETIHES W TFE 9|

3 SRTHRIR G 4310 A5 T35 F3
4 G5 e RS 2% 9
Options :

227427516009. 1
22742751610. 2
22742751611. 3

22742751612. 4



Question Number : 79 Question Id : 22742713248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

g i J T I ©1F 2dE B 1 Afbmiey ; wig Qs saw Er
WA (I-ARGAL TOIoF SANITA L A%, (16 =24 -

1. fofFesis o wSifefEn
2. 4G 8 Bfees
3 WAIfeER & e
4. A F & (TR~ F

Options :

22742751613. 1
22742751614. 2
22742751615.3
22742751616. 4

Question Number : 79 Question Id : 22742713248 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T i F TR T O #dE B e Afbmigey  wig Qs seaw Er
WA (I-ARGAD HOIoF SANIIA L A%, (16 24 -

1. ol @ wAifekn
2 G & BFeTE
3 W~y 8 yfGe
4 VNS 8 (TSRI-F

Options :

22742751613. 1
22742751614. 2
22742751615. 3

22742751616. 4



Question Number : 80 Question Id : 22742713249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

‘gow A BN FA T

1. Y2EG QO EAIY TP
2. N=EIG A WFIE
3. GEOMMEH /YF

4 G+ GRS

Options :

22742751617. 1
22742751618. 2
22742751619. 3

22742751620. 4

Question Number : 80 Question Id : 22742713249 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“Now AEC GNP

1. W2IAG GoMMHAIY AP
2 V2GS AT AN PIE
3. BT D

4 TG« dEALF
Options :

22742751617. 1
22742751618. 2
22742751619. 3

22742751620. 4

Question Number : 81 Question Id : 22742713250 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BIREA] STl T8 A5H YA
CHYTe; ‘foar SRIATET (A-FROE W™, (56 =4

1. G#

2. (GUISHIEE

3. G-

4. (ATVI AfGTTP

Options :

22742751621. 1
22742751622. 2
22742751623.3

22742751624. 4

Question Number : 81 Question Id : 22742713250 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

BIRa STHal #1825 I
GrYielG oar PRISTEL (I-PROE ©g#, (6 2 -

1.5

2. COUISHIAN S

3. Gt

4. (NE W&lTP

Options :

22742751621. 1
22742751622, 2
22742751623.3

22742751624. 4



Question Number : 82 Question Id : 22742713251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SIS (FIAT ST AR I T, (7 WS | -GS WO (367 2T 993 (5 TF7 7
TSR A6 GAE W54 @1 =41

1.98§%

2. el

3 &Y

4

Options:
22742751625. 1
22742751626. 2
22742751627. 3

22742751628. 4

Question Number : 82 Question Id : 22742713251 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SIS (B ST TR I 7, (5 WY | WE-FGLG H0 (3 2T O3 (5 5T A
TSR A6 GATIH WAibH @1 =341

1.98&3

2. WG
ERCI:

4 YA

Options :
22742751625. 1
22742751626. 2
22742751627. 3

22742751628. 4



Question Number : 83 Question Id : 22742713252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“W] GO T FiHd Oe-TY Wags iod AFfod gq
— B0 (TRHEIITP 3 (AP GRYD AR, O 2

1. 15T SIROIE 2 — (R0 TG
2 e AR el d — AT YA
3. QIHILOG 8 RO — I SO
4. QRATHEN - SAEEH O

Options:

22742751629. 1
22742751630. 2
22742751631. 3

22742751632. 4

Question Number : 83 Question Id : 22742713252 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

B[] GRS BLd Oe-TY Nage i AFfod gql’
— WSANG (2T % (Y SHY ALY, O = -

1. A5 B0 BH — (RS TGN
2. sl RLE elsTa — Setre= JUATEms
3 QIH-0G 8 PHIETE — SE9T Bahre
4 TRAEE U — AT (T

Options :

22742751629. 1
22742751630. 2
22742751631. 3

22742751632. 4



Question Number : 84 Question Id : 22742713253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TIPLO T 511 % dgery

= 1 2 2 g9 A TF

8% =3 (514 BIoH G (O]

3% M2y Afarr Ao

THy© SROIABre (RO isiio 8 *[5s Wad (G- Ry 2FM (g, O %4

1. \*gs 8 owa" Fgs
T T TR B | (P | T | S
3 Wege 8 fe[e

4 weiga @ SAfeurare Nags

Options:

22742751633. 1
22742751634. 2
22742751635. 3
22742751636. 4

Question Number : 84 Question Id : 22742713253 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TIPS W 511 (% «0sy

=3 1 22 g9 = T

8E 23 (514 516 G (01

3% =7 Afarr AfgE

THy© FROIABIe (TR 8 */E5S Wad (- [UEg SFM (T0g, O 54

1. *ge & oW e
2 Weida 8 MoNAd F99
3. mege 8 s

4 meigs 8 “AfoNrad ags

Options :



22742751633. 1
22742751634. 2
22742751635. 3

22742751636. 4

Question Number : 85 Question Id : 22742713254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

“YZ( SIS Gedf o7l #0071
NG (L STHIT AT AN
TNy FIAOIGIO WP FRIPIT (AP 3 551G 24 -

1 ST YN BICT, ST (GO 5T
2. AT &, SN AU A

3. BALNT o o G oy 5a0e

4. G 20Y B0, TN forg 530

Options :

22742751637. 1
22742751638. 2
22742751639. 3

22742751640. 4

Question Number : 85 Question Id : 22742713254 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



“NZT WIS Gelr o711 *T1
G (M-S A AL
THy© FEOMBre WesFIad e (A B TS ==

1. GoTNT YW 50T, G [org 5at
2. ST &, SN YW AT
3. BT I, 5N (gord oA
4 GO AW I, BTN forg At

Options :

22742751637. 1
22742751638. 2
22742751639. 3

22742751640. 4

Question Number : 86 Question Id : 22742713255 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ST G TS 61094 (06,
g =1 frg =11 (@, IR &= (F6,
1% (I~ -”."xE; |

1. e Iie
2 a3y
4 HZ(G

Options:

22742751641. 1
22742751642. 2
22742751643.3

22742751644. 4

Question Number : 86 Question Id : 22742713255 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Sy GR{TE TS 261094 (GG

A = a1 (09, AR S (S,
IR (P TSI

1. SR

2. 1499

3. IMotdF

4. T\ﬂ- EE-?’lI'S

Options :

22742751641.1
22742751642. 2
22742751643. 3

22742751644. 4

Question Number : 87 Question Id : 22742713256 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
RIS WAATENE TOSTA FIIFIT GAZNN & AL FCIAN, (T2 A6 =

1. IR0

Options :

22742751645. 1
22742751646. 2
22742751647. 3

22742751648. 4

Question Number : 87 Question Id : 22742713256 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
RIS SR ATAE TOSTE FIAP GAZAN 8 LT I, (12 40 =

1. P

2. SR I

3. AP (JF10
4. AR PID
Options :
22742751645. 1
22742751646. 2
22742751647.3

22742751648. 4

Question Number : 88 Question Id : 22742713257 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(ATIOIT IR GGG (-SRI (AT (PRI 5 A A1, O1F WY 2

R
(AT

[ N

AUHEIM

&~

Options :

22742751649. 1
22742751650. 2
22742751651. 3
22742751652. 4

Question Number : 88 Question Id : 22742713257 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(AR SR BTG (F-9130R {1 (BT (FIETE 5T AN =, O1F WY =4

L (2] LT
CATC=TT
hal [ LT
AT "Ti'uji.q

[ A

._[‘_‘.

Options :

22742751649. 1
22742751650. 2
22742751651. 3

22742751652. 4

Question Number : 89 Question Id : 22742713258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

IG5 (A-6Hafta AT YRR [ fQrem, it =

1. (A

2. ST

3. WIS
4. 'uat"qﬁl WSH
Options :
22742751653. 1
22742751654. 2
22742751655. 3

22742751656. 4

Question Number : 89 Question Id : 22742713258 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

EESH0e (I-6HAibd 2Af® Y72 [ e, it ==

1. (eI

2. ST

3. WIS
4. Lﬂt'qﬁl WSH
Options :
22742751653. 1
22742751654. 2
22742751655. 3

22742751656. 4

Question Number : 90 Question Id : 22742713259 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
(TR 7 2T, * P TSI <00 01 1 T 270 T, (T8 G O3 1 915 0 s TR O g (R 1

N A0 9, S5 BTG Syo G A, &% (O TR (74 (FIT 4T | TR 4R 403 1PTR (90 DU 7, 7
omF N TR

W06 (¥R 3 A, O W4 G0 T

1, (TR AP

) ST 6%

3 TR 6%

4. 'uLL:P: ”D lmm
Options:
22742751657. 1
22742751658. 2
22742751659. 3

22742751660. 4

Question Number : 90 Question Id : 22742713259 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

(T4 37 3T, ] THEET 0 08 9 T 2750 T, (Y 8 F05R 1 3 U e 97 O g (U 1
ST RS U, O BTG Wge GO 7, 4R (7 TR (46 ORI 4138 ) PTG 42 S50 19T (98 I 1, 745
G FERIVEL AV 1)

W04 (33O 4 Aeige, O G 45 T

1. (RS

) R 5%

3 TP 6%
4 (A 763

Options:

22742751657. 1
22742751658. 2
22742751659. 3

22742751660. 4

Question Number : 91 Question Id : 22742713260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SE A FIR TA(F FAF6 SG- W &G @D (8T =
A 15T TP G® FIRWI HA4T 6|

B. AeeATd NS WY FIAIZ 210 TR |

C. T TS ¥51 FIRE SN TG

D. FET ANS 566 N4] FARE WHHTO TR

E. q5a TS (WH-N4 ¥R 2 990 FaRH

s MNP0 (3- [P0 TIHI6 18T &5, (6 2.

1.A B33 C
2 A CaasE
3 B,Cd93D
4 C DAIRE

Options :



22742751661. 1
22742751662. 2
22742751663. 3

22742751664. 4

Question Number : 91 Question Id : 22742713260 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG A FEER T4 FIAB0 WG WASG TS (RST =
A. TEAR AP 9 FIEF A4 6|

B. qsETY AUS WY FIRIZ 2qF0 TR |

C. FIEAR TS 2618 FARE FUE™ TOeAwIg |

D. AR SIS B6- Y] FAR2 W g0 FI@l=

E. q5a TS (WH-N4 ¥R 2 990 FaRH

S TP (A-[AFahre Teslt 189 &5, (36 ==

1.A B4R C
2 A CAdRE
3.B,CAdak D
4 C,DA9RE

Options :

22742751661. 1
22742751662, 2
22742751663. 3

22742751664. 4

Question Number : 92 Question Id : 22742713261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TE A O TS FIIFC W- WG TSI (ST =4,
A @ *MaH ST

B. To *[@[6s f[rerger|

C. EI-EHE TfeafEe S|

D. ‘ZOEG /TGS [T

E. CHIOTT SFY< (e

e (P (I-FSgore 5956 I8 &5 (6 2

1.AB4A9RRC
2 ABARRE
3ACARD
4 B,DARE

Options :
22742751665. 1
22742751666.

22742751667.

A W N

22742751668.

Question Number : 92 Question Id : 22742713261 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G A O TS FIIFC W &G NG (ST =4,
A. & Mg S|

B. ToF AR—I6S [[UerEe|

C. - TfozfEe S|

D. ‘BGERG WS [T

E. CIGrY Sy f&

s H(PLo (3[R0 JIHI6 180 &%, (J6 24

1.A B4z C
2 ABARRE
3ACHAD
4 B,DARE
Options:
22742751665. 1

22742751666. 2



22742751667. 3
22742751668. 4

Question Number : 93 Question Id : 22742713262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG A *FMOIQE T FAFI6 S ASF TB) (T8 26
A SMST BB *F|

B. FrEId A Al (AT TS 5|

C. ICAST 9 ST (ATF S5O #1757

D GINTET (A5G ©Il (AT W5 #137 |

E “SE~Giar WA 8 O8N GATHIN J2CIIs 513 fsy #=q)
NS NP0 (I-[HFQ000 AIP0 I8 &F, (16 =

1.AB4AGRRC
2 A CHRRE
3.B,CddR D
4 C,DARRE

Options:

22742751669. 1
22742751670. 2
22742751671.3

22742751672. 4

Question Number : 93 Question Id : 22742713262 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



NTE A SRS T(F FIIBI0 SF- W& B (ST =4,
A “5T9F ©EJ *=|

B. TR FTE0 Ol (ATF S5O 177 |

C. “WICATST OfF SIET (ATF W50 =7

D. TN (AT O (AT S5 *177 |

E SE~NGiar WA 8 98 SATAN J2CI0 5139 Ms *=)

e (P09 (I-FSgore 5356 I8 &5 (6 2

1.AB4A9RRC
2 A CHARE
3B, CadaRD
4 C.DARRE

Options :
22742751669. 1
22742751670.

22742751671.

A W N

22742751672.

Question Number : 94 Question Id : 22742713263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T UL #7187 1 0] ST R0 %O ) (7% 27

A, %7 36 7R O T80 B (% TR0 9T 4 “1fef g fofe e g

B. ST 0 NRIOI® ORI T 4N (GofLad 1Y Hopa|

C. T (WO 572 (a9 T 3 - DIPTSR 4% 90 167 AT 3107503 0P PTIR OIRIET {ofS0 St 1 T
D. SRR P CEIHRA (R IRRPILE T TR (8- BT PR 1ol 2T Ter o

E. T5OB{30T0 R0 ST 5571 30 S0 0 G0 (oo FTCafigere, oty e e

S 00 (3 RF000 TR V631 &%, (o1 2

1ACE:D

2B C4RD
JADSRE
4CDARE
Options:
227427516731
22742751674. 2



22742751675. 3
22742751676. 4

Question Number : 94 Question Id : 22742713263 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG SRR 197 1P 0] ST FH0 477 T8 (Mo 3

A, 31 316 12 1 TS — B (X P ST 4% 18 g Foff 20w ST8°f|

B SRV T4 VOIS ST o 4N (S0 A% oy

C. T (WO 572 (a9 T 3 - DIPTSR 4% 90 167 AT 3107503 0P PTIR OIRIET {ofS0 St 1 T
D. STARRO! I AP (R AIRILET SO TSI (3-API GLare Tt ol e Tl

E. THOTBO® R0 T 21571 T8 S T L (e R iger, fo 20 Aerl

o7 TP (% RRegL0 TRl ) &7, (16 %

1.ACERD
2.8 CaRD
JADIRE
4 CDARE

Options:

22742751673. 1
22742751674. 2
22742751675.3

22742751676. 4

Question Number : 95 Question Id : 22742713264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G TR TGP AP FEP0 B7-H ST TS (ST =

A O] (RIS ALY 5-49 (579 ©aa|

B. AN A% T2 N8| (F0¢ VLI AqI BT 1T I Bl Fa’l

C. T *{+11-F AR SIS IS Pl (0P WATF WIH Glerd WR|

D. RO T1ET ST ([UAF Wl N0 MUHRe [fon 4a0d 21®, oY 43 T8 g T0|
E. FIT33 <[00 03 18T TR 06 (SRS T 9141 0|

A8 NP0 (- [Fahe TIFhs 169 &5 (56 =

1.ABARRE
2B,C4a%:D
JACARD
4 ADARRE

Options :
22742751677. 1
22742751678. 2

22742751679. 3

22742751680. 4

Question Number : 95 Question Id : 22742713264 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ATH TR AOP] TP FLIFIL &7 TS 7 NE (T =T

A T3] (FAIRICHE AeT-9 519-49 (5718 ©dana|

B. 4G AE JEF 0] (04 Y2 Nig BIMS F1T1 90 Gy FAgl

C. T2 #{+11-F WA B TS Tl (30 SRR WOTH Gley o

D. fRUA1 1T ST ([UAF Wl ST [RUaRe [Rfom 430 =1®, Y 435 918 HOIad 20|
E. PITRR <[ L1 18T F500R 90 (=Y Ty 14 20 |

NS WP (F-RPFHI0 TG T8 &%, (16 =4

1.A BARE
2B, C4a%:D
JACARRD

4 A DARE
Options:
22742751677. 1

22742751678. 2



22742751679. 3
22742751680. 4

Question Number : 96 Question Id : 22742713265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AIE ST Aled FIaol gl AP0 SG-AST T8 (ST =4
A (GBI, 39, TS — fSAIG HForE e Fs FAH 69|
B. G WS ‘(THIF ©=r-3 SR 2575 W0 (GoTy <o
C. . WES (3 G
SANGE 9N (N2 *Fl® |E (RSTETd DI |
TAE FIAOTT 4T IA1 IR Al T4 |
D. *M&F (60T FYA(FE (3T TN FLIRA FYF TS ST
E Y9Ifo Ffderg gr=naifs Song Wrard NeEs I2-¥E|
e NP0 (I-[HFQO0o AIP0 T84 &F, (A6 =

1.AB4AGRRC
2B, CdRRD
3.B,DIANRRE
4 A CHRE

Options:

22742751681. 1
22742751682. 2
22742751683.3

22742751684. 4

Question Number : 96 Question Id : 22742713265 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G TR Aled P90l WAl FIAP0 Wq-W&T TG (AT =6
A (OBT, 3q9, TUIf0 — O SRR e s FU 60|
B. SIGHI WO ‘(TIF O3-S 23575 WY ‘(GrI PO |
C. . &S (G
STRGE T (N2, ¥Ffo W0y (RSTIEd I |
TS IO 4T I ZCICG el T
D. &I (5UT FYA(H2 (X T IR IS U@ o]
E TUIf® F01g Qraaiie Wadl Nrard (Nage T==yE|
E NP (I-[FFgGre NEF6 U8d) &5 (36 24

1.AB4A9RRC
2B, CdaRRD
3.B,DARE
4 A CARRE

Options :
22742751681. 1
22742751682.

22742751683.

A W N

22742751684.

Question Number : 97 Question Id : 22742713266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



6 G AR FI0] WA FIIBI0 SG- &% TH) (ROT =,
A B4 45919 FT8 TG
(ZTA(ET FIFTT TACOE TG M7 Ton|
TR Sy 4% 1 *1ew T
B. 99 W1d T, (01, F19MGE 4N 70 fon (W0 Fom 941 200g T o |
C. ‘({1 RO ATHFI IR FAHF 2% —
57 (9 G 0ol OE-900 JHT S FF 1
D. o1 MR 7 9% B (613 9 9Ny a FRon|
E. =19 foeT & Tt <ol 1ibd FY=aiod S0 |y
oE W(Po (3-Regiore ot T68 &5, (3 =

1ABARRC
2 ABARRE
3.C,DARE
4 B DA E

Options :

22742751685. 1
22742751686. 2
22742751687.3

22742751688. 4

Question Number : 97 Question Id : 22742713266 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



6 G AR FI0] WA FIIBI0 SG- &% TH) (ROT =,
A B4 45919 FT8 TG
(ZTA(ET FIFTT TACOE TG M7 Ton|
TR Sy 4% 1 *1ew T
B. 51T W1 (1. (e, PI5T0GE UNTH 70 [of (I00 ZoW $d 2R g iy
C. ‘(I8 TGO AT P FYLFT 29 —
‘7 (7 GLeg WOl LE-I0F JFT S FI N
D. o1 MR 7 9% B (613 9 9Ny a FRon|
E. =19 foeT & Tt <ol 1ibd FY=aiod S0 |y
2B NP0 (3- RSO AP0 N84 &G, (6 =

1ABARRC
2 ABARRE
3.C,DARE
4 B DA E

Options :

22742751685. 1
22742751686. 2
22742751687.3

22742751688. 4

Question Number : 98 Question Id : 22742713267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG 9T 5T R DU PR % W% T4 (7%

A T (27T 200 BT (BT & S0 (4T, e 3t (911G 4168 T

B, TR & (T MO R 10 4K 3 (3700 TR0 193 (74 X0 91T T TR0 SI50°T & WRTAT 6 X
iG]

C. (411 8 STfTefer bl TS A% (o 0 (0 e

D. SR, T (G ot 1915 PIRAR, TR AT 67 o5 e

E. SRR ST 039 G NG G150 908 T 43, % o i, G (o gt

S8 TS (3 aegor ey W1 7%, (1o %

1.C.DERE
LABIRC
JABIRD
4B,C4KE



Options :

22742751689. 1
22742751690. 2
22742751691. 3

22742751692. 4

Question Number : 98 Question Id : 22742713267 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS T TR TP S TR - T (RO 31

A, T (ST X0 BT (BT & 4110 (T8, W70 1 (4116 4195 T8

B, TR & (T MO R 10 4K 9 (37100 TR0 163 (74 X0 91T T TR0 S50 & WRTeT o T
BTl

C. (4P 8 STTofers b1 17700 AT (O 0 (7 (e

D, ST 71 (T3 T 1975 g9, TR (TR 67 % Freree

E. SRRIS ST T4 093 0 BIS 7 90 9T 4TS, 75 T o, e (o gt

918 TS (3 Rgn ey W31 47, (1o

1.C,DAKE

2AB4RC

JABARD

4B CARE
Options :
22742751689. 1
22742751690. 2
22742751691. 3

22742751692. 4

Question Number : 99 Question Id : 22742713268 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG ‘(BT GIE RONAS STl FIIHI0 4F-T&T T8 (R8T =4

A & (85 &I IERES 73N W, OB 3@ (0T 07 (e =g |

B. fOrI=a1 (G hia® ARRIER (ARl (TS0 & FAG 7ol STAel & T 90 K& |
C. Rl (66, IMOTT 377 PR (AF FIBAETS AN L 0T B |

D. SRS SIFT AR 9 (AT =1, (7l O RO ST Ul

E. 310w 20w oS ISI0a F81 O [om0s BT (OOt fom $30e (ag|

P78 NS0 (T FGO0S FIP(0 N84 &% (376 =1

1ACAR:D
2C DERRE
JABARE
4 B,CA%D

Options :
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Options :
22742751745. 1
22742751746. 2

22742751747.3

22742751748. 4

Question Number : 113 Question Id : 22742713282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AT DA AT AT TP PRI §7-T8F TG (9%

A ST 8 T4 GOTR V07 TNeIE WIS T8 FIRE 74091 T WG o100 25, 7917 o1 23 1
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1A BARD
2B, CARRE
3.C,DARE
4 A C4RD

Options:

22742751749.1



22742751750. 2
22742751751. 3

22742751752. 4

Question Number : 113 Question Id : 22742713282 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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1TABYRD
2.B,CARE
3.C,DIRRE
4 ACAERD

Options:

22742751749. 1
22742751750. 2
22742751751. 3
22742751752. 4

Question Number : 114 Question Id : 22742713283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1T SESE0Ed (AMIGT WAl SIS0 &G-S TS (T =
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M@ T [P0 (I-RFA00 FIF6 16 &7 (A6 =

1.A C 4d9RRE
2ACHa9:D
3.B,DA4RE
4 B,C4a9:D

Options :
22742751753. 1
22742751754. 2

22742751755. 3

22742751756. 4

Question Number : 114 Question Id : 22742713283 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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ANE TP (3-RFF000 /B0 164 &5, (6 =4,

1A C 4RRE
2ACARRD

3. B,DIRRE

4 B,CARkD
Options:
22742751753. 1

22742751754. 2



22742751755. 3
22742751756. 4

Question Number : 115 Question Id : 22742713284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G (MIHFT & TgeIleTNT ST FIIFH &5 54T (787 =7

A. (oGP -4 A5 s BT {HTHRTR TRIFR) TS S TR
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C. GCEEITN-(9 4 20WCR (T, T STSAIE YT, 07 (P TIE6S (73

D. ATGIGR SG2ER MG AT S FIET T89S

E. f3erStorer & THar - 7o JFHR ARl 1% GG Gibe 9 27|

oS TIF00 (3-RSF0H0 TIPI6 T84T &7 (715 21

1.A BARRE
2ACAR:D

3B, CARkD

4 C,DIRRE
Options:
22742751757. 1
22742751758. 2
22742751759. 3

22742751760. 4

Question Number : 115 Question Id : 22742713284 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G (AT 8 TCegamieTui WPTa FIIP0 &% ST TS (783 =

A (AR 47 #i5 93 YR AR TR T S5 S|

B. GO AT, S{5TeTel AN (AN (A WO T2q01 4= VW [K¥0T SO (9|
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D. FTGI0R WwTHR M6 AFOTF o9 FAPIES T80
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1A B4ARRE
2ACAaRD
3B, CARD
4 C DIRE

Options :
22742751757.1
22742751758. 2

22742751759. 3
22742751760. 4

Question Number : 116 Question Id : 22742713285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG S T Te-OT0T O O SR e R e 91 4 g oy 7R et g RO g

TS W (H T Zel
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I e
CAITT Il AR
D BT v i
o TR 4] STUEST R 90 08 00 156 G 2

1.A-VB-1.C-1.D-Il
2A-NlB-1.C-IVD-I
JA-INVB-II,C-1.D-ll
4 A-1B-1.C- VDIl

Options :

22742751761.1



22742751762. 2
22742751763. 3

22742751764. 4

Question Number : 116 Question Id : 22742713285 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TS S OO -SSR S W R e 791 4 g Oy 7R 16 7 RO e
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GlIEEDR OT 3
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1.A-VB-1 G-Il D-Il
2A-IlB-1.C-IVD-I
JA-NB-II.C-1.D-Il

4 A1l B-1.C-NV.D-Il
Options :
22742751761. 1
22742751762. 2
22742751763. 3

22742751764. 4

Question Number : 117 Question Id : 22742713286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 2w SIS TS IR) T QT T ST e ety <) 44 0y Oy 37 1 (el 41
T ) el 3
A @O T R EE |
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1.A-IlB-IV.C-1.D-1II
2A-1B-M,C-V.D-|
JA-VB-Nl.C-1D-I
4 A-ILB-1.C-IV.D-II
Options :
22742751765. 1
22742751766. 2
22742751767. 3

22742751768. 4

Question Number : 117 Question Id : 22742713286 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T 2w SIS TS IR) T QT T ST e ety <) 44 0y Oy 37 1 (el 41
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JA-VB-Nl.C-1D-I
4 A-ILB-1.C-IV.D-II
Options :
22742751765. 1
22742751766. 2
22742751767. 3

22742751768. 4

Question Number : 118 Question Id : 22742713287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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G 2T OIPIY (VI FRT (AF POAFH e J92 (o8 Oerd (T I61E A9 (a7 =
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1TA-IVB-I,C-1,D-Il
2 A-lLB-V,C-1,D-1I
3 A-lILB-V,C-II,D-1
4 A-ILB-1,C-IV.D-NI
Options:
22742751769. 1
22742751770. 2
22742751771.3

22742751772. 4

Question Number : 118 Question Id : 22742713287 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3 A-lILB-V,C-II,D-1
4 A-ILB-1,C-IV.D-NI
Options:
22742751769. 1
22742751770. 2
22742751771.3

22742751772. 4

Question Number : 119 Question Id : 22742713288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3 A-ILB-1I,C-IV.D-1

LA-I,B-V.C-1D-I

Options :

22742751773.1
22742751774. 2
22742751775.3

22742751776. 4

Question Number : 119 Question Id : 22742713288 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 A-N1B-IV.C-1.D-I

Options :

22742751773.1



22742751774. 2
22742751775. 3

22742751776. 4

Question Number : 120 Question Id : 22742713289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
TG 9T 91 S 2 OIeaTy 319 210 F17 Ofwr 433 708 SIfeTerd T3 bagog AN (R8T
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4 A-IVB-IIl,C-1,D-Il

Options :

22742751777. 1
22742751778. 2
22742751779. 3

22742751780. 4

Question Number : 120 Question Id : 22742713289 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751777. 1
22742751778. 2
22742751779. 3

22742751780. 4

Question Number : 121 Question Id : 22742713290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3A-IVB-II,C-1D-I
4 A-11B-1.C-IV.D-1I

Options :

22742751781.1



22742751782. 2
22742751783. 3

22742751784. 4

Question Number : 121 Question Id : 22742713290 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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3 A-IV.B-IIl C-11,D-I

4 A-1LB-1.C-V.D-II

Options :

22742751781.1
22742751782.2
22742751783. 3

22742751784. 4

Question Number : 122 Question Id : 22742713291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG RATTTY TR R o 137 SR (3T 42 Sy e T g 4 T oo ¥ g
IR Y (ROT =

e 3 oI
A |Art is not a pleasure frip, itis a battle, & mill that grinds. | (515
B.Inspiration! Ahl That is & romantic old idea void of all sense. Il AT
C.|We have seen mere happenings, but not the deeper fruth which is measureless joy Il il
D Those organs which guide &n animal are under man's guidance and control IV R

e W AT ST FO4 9 2 100 0% Baglo =0
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2 A-Il B-M.C-1.D-]

3A-NV.B-II C-1D-|

4 A-Il B-V.C-1 -1

Options:

22742751785. 1

22742751786. 2

22742751787. 3

22742751788. 4

Question Number : 122 Question Id : 22742713291 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 A-Il B-V.C-1 -1

Options:

22742751785. 1

22742751786. 2

22742751787. 3

22742751788. 4

Question Number : 123 Question Id : 22742713292 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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2 A-Il.B-IV.C-1.D-1I

3A-ILB-Il.CV.D-I

4 A-VB-IIl G-Il D-I

Options :

22742751789. 1

22742751790. 2

22742751791. 3

22742751792. 4

Question Number : 123 Question Id : 22742713292 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 A-VB-IIl C-ILD-I

Options :

22742751789. 1

22742751790. 2

22742751791.3



22742751792. 4

Question Number : 124 Question Id : 22742713293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

22742751793. 1
22742751794, 2
22742751795. 3

22742751796. 4

Question Number : 124 Question Id : 22742713293 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

22742751793 1
22742751794. 2
22742751795. 3

22742751796. 4

Question Number : 125 Question Id : 22742713294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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4 A-IVB-IIl.C-1lD-I

Options :

22742751797. 1
22742751798. 2
22742751799. 3

22742751800. 4



Question Number : 125 Question Id : 22742713294 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T 2T TITHIY FLIPI0 DIKOTT WA 33 G017 ONewry PIHI6 R 8 NIal (ReT =4
BIGEE BIGEIES

A | RTIRR TS SR | [gs EEr o)
RUEERGTIAE B

=18 4 T ok
VEECIE

B.(XNRGRA, WA ATRINY ||l [FeTge Aoz
AT 1B IR ST AT
QLGIEUEEIERRICS
UATE PG AP SIS 2|

C OIS "R MBS B/ |l [Fge @A o
4T #TTR ST 5T
*{12F 0 WS WALS e

BT e 1 A

D. AR M wfEe F19 IV [eTg® STowTare oF
W2 OItd il Fong T3
g o (R o9 o1 BT

BTl (T i1 S0, Woe Rt |

Ty OIfFIE W4T NN E& 4 F0F 2Wa Flho 3% Badin 2.

1.A-ILB-1,C-IV.D-I
2A-NLB-V,C-1,D-II
3 A-1B-1,C-IV.D-Il
4 A-IVB-I,C-1,D-I

Options :

22742751797.1



22742751798. 2
22742751799. 3

22742751800. 4

Question Number : 126 Question Id : 22742713295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A (U 1R GoFFTT T (RS e ooeet | TR Sfbfell BT OReTa (372 Fwesers AT Al (6% 3
A Tl

CRE

C. M

D, 91

E SR

G AN (3300 TR, A8 IO O 109 [4ah 20

1 BEADC
2 EACDB
3 BDAEC
4 DBEAC

Options:

22742751801. 1
22742751802. 2
22742751803. 3
22742751804. 4

Question Number : 126 Question Id : 22742713295 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TUAIGR (O 4T T AT (479 1 e | MR STt oAy Weral (7% Fesfed 1 it (e 7
A IO

B. (5

C. M

D. 51

GG

BT e (32900 R, e et o 5 feago =0

1.BEADC
2EACDB
3BDAEC
4 DBEAC

Options :
22742751801. 1
22742751802. 2

22742751803. 3

22742751804. 4

Question Number : 127 Question Id : 22742713296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

s ffoq AN GFT I A0E AT HAETH O FLIPI6 FA0FHT T (RS =T
A PG 8 (PIVT-99 T4

B. A9l 7%

C qHY & T g9

D. 15 Bl MR 7N

AT AT NETY oS IO &G TS 3F [PA6 =

1.BDAEC

2 CEDAB

3 DECAB

4 ECDBA
Options:
22742751805. 1

22742751806. 2



22742751807. 3

22742751808. 4

Question Number : 127 Question Id : 22742713296 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

~ith [foR A ESrE 91 90E A AT (TN S0 AI0H AN (S =
A PG 8 (PIVT-99 T4

B. A9l 7%

C. IAHNY 8 (T g

D. <& LW SAH=ILEE A

Y A [IETY oM (0 &5 F0Ud D6 [9gi6 29

1.BDAEC
2 CEDAB
3.DLECAB
4 ECDBA

Options:

22742751805. 1
22742751806. 2
22742751807.3

22742751808. 4

Question Number : 128 Question Id : 22742713297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



E AL FLTPI0 ATH 2AHT N (R8T =
A. (IS

B. (RLETOeIIT RG]

C. oI wrs ol

D. wE=Il

E ImTem

oS TRIFO AIH ST T W5 Pt 3 [0 =

1. BADEC
2 DAB,CE
3. ADEBC
4 AECD,B

Options :
227427518009. 1
22742751810. 2

22742751811.3
22742751812. 4

Question Number : 128 Question Id : 22742713297 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

MG FAHATLT FLIHI0 AT AICFHI VN (ROT =4

A. (9O

B. (LTIl o]

C. Afzrerg wg=rif

D. wa=4l

E IETeH

NS H(PLO ATHBT T &G FEALFINF 0P [PAIG 24

1. BADEC

2 DAB,CE

3. ADEBC

4 AECDB
Options:
22742751809. 1

22742751810. 2



22742751811.3
22742751812. 4

Question Number : 129 Question Id : 22742713298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A I ARG SIS Gl 3% (A0 O PLIPGH A WY (F8¥ 2AE

A TSI

B. RPATISIeTIe

C. TS

IRRTIE]

E qEFI

TR TSR N4 (RILGT (X0 00T — 4% RO 28 FSTHL0 &% T 3 [0 =7

1.B.DEAC
2.CADEB
3.CAEDB
4 BCDEA

Options:

22742751813. 1
22742751814. 2
22742751815.3

22742751816. 4

Question Number : 129 Question Id : 22742713298 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



TG RS A G G 3% (A(F 919 FIIFGH A Y (97 TR

A AT

B. RISt

C. TS

D FHAIY

E I

AT TEIRA 4T “CRITET (X0 00T — 4% FROT 2@ Te(F00 &% FIN3 0% [Req =

1.B.DEAC
2 CADEB
3.CAEDB
4 BCDEA

Options :

227427518131
22742751814. 2
22742751815.3

22742751816. 4

Question Number : 130 Question Id : 22742713299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG R 50 P AT Y e (e

A e ot famer e el e e e e (T ey RIS ae Sraarers A o3y 48 919 SO
ST 71 9T 9603 331 AP0 40170 | T TR Rl <0 wGeren

B. 1 ST 4R R 1 3 o e e Sy et 7 (9T (BT 1 G314 e G170 208 (ST B
C. 361 119, e, ¥, R 0 0% 0% OO | TR T 438 5 5 — (3o TR0 (ot 00 4T3 O | 9 i
UG TR BRTT0 AT WRTR0 - 7% (L9

D, ARSI gt ey 0 7 18 30 (R g 3

E. X T | TR ST (BT 53T - 3 T e A 9 (e g G 0 T o
o7 TP (303 TR 7% S 10 Ry 3

1 DAECH

2 ACBED

3 DCAEB

4 BACDE

Options:



22742751817.1
22742751818. 2
22742751819. 3

22742751820. 4

Question Number : 130 Question Id : 22742713299 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G T TR Tl O N e R (o

A T o T ST el =i oraeerg ey Pt o1t frcg e Ao et w8 s et
ST 17 AT 14TE 1 I PO o197 39 Tt (et <l ey

B. 7 Y9R 41 s f 71 75 o Aoy wrsors S eren S (19 (TR T4 ey Gy <08 (TR 47|
C. 61 11, fee, ¥, 74 T 0% 0% GUOTCA | (TR 0 27T ¥ 5 — (3T 0 (0% 0 T 9714 1| 9 i
QUG 3T B0 4T TR0 - X2 7.

D, IR 3163 R 03 71 817 T (<08 g

E. ST AR STRTLR T (PG 5T 3 T 02 S0 R i oy o 09 700 W

S8 ST (30 -1 7% e 134 vl 2

1.DAECB
2LACBED
JDCAEB
4 BACDE

Options :

22742751817. 1
22742751818. 2
22742751819.3

22742751820. 4

Question Number : 131 Question Id : 22742713300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W3 (st A0 91T GRS by-product recovery ST (3 T o TG (T4 (XT3 SLIH0 275 ~ITb Bz 4o 2
A 02 (P TRR

B. (VRT3 ¥ 21 Y% (91 70 22|

C. SRS (3T T 91 254

D, 4T3 O R 1T 5 BT 131 5% . o0 389 3 T AT BT 12

E. SR et T ok Rt 2

TR0 ] (R TR, 78 <700 Wi 3 oo 1

1.ACBDE
2BECDA
JBECAD
4 CEBAD

Options :
22742751821. 1
22742751822. 2

22742751823. 3
22742751824. 4

Question Number : 131 Question Id : 22742713300 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Wl ST o0 o (e by-product recovery TR (3 T30 341 TR (T4 (403 ST 1o 570 i B0 0
A FORE (T TER |

B. (RT3 e 209 1% (91 270 32|

C. TS ({0 9T 91 2504

D, ¢T3 G +%0 OTTRA 5 BT 14 BS38 oo: e o0 X80 e (e e el 23|

E. SR 4Pt T e Rt 2

R0 T (R0 TR, 73 5700 Wi 35 g

1.ACBDE

2BECDA

3 BECAD

4 CEBAD
Options:
22742751821. 1

22742751822. 2



22742751823. 3
22742751824. 4

Question Number : 132 Question Id : 22742713301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TR O GO ORI TGS (5 03 AT WAOR-S53 FLreis I A1l 247 =
A TP R Gt s <1 Oitas fAre 0o 28011 4319 W51 Tt o

B. RIRIFTR U 5% 1%, SIS (31 435 309 S ] Oy 300 54 9 I A0r|

C. T R S5 oP~{1oifeq S TorTs FRIoTR | ofRd W8 20 [

D. TRV 0 2T SABRR I TS AT |

E e TRaE T %% 9| Gie 49 Gt (ol

B TR0 [T TGRS APIaTd @t (3 f[eglh =

1.BDAEC
2DACEB
JEBDAC
4 CEBDA

Options:

22742751825. 1
22742751826. 2
22742751827.3

22742751828. 4

Question Number : 132 Question Id : 22742713301 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



THOH BN T WA TGRS (% 3 RPARR MAOR-5F SUE0 I 10 278 2.
A. (TR TG AT A AT O T 209 23| SRR W91 Ot S|

B. [OTIeTE Wi {4 1%, S9N (I 4% 200 53 (3 ) 209 74 259 Pl Ao

C. FSI R TS 19108 Td oo SRIor | 2 WIey 290 [am|

D. R s e ofvem 115 ifte AT |

F_fOIea ZIag VI W TSF9T| TR 40 Giod (1

9 N<[RT0 MR TAOR-6% RIS SINd 5% [1aao o

1.BDAEC
2DACEB
JEBDAC
4 CEBDA

Options :

22742751825. 1
22742751826. 2
22742751827.3

22742751828. 4

Question Number : 133 Question Id : 22742713302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G (AT FAT (AT PLISI0 W (T 2o
A. 0% I FILPMA SF0GF 00,
f2pid 9 (o7 T g W1+ {407,
STNA? (F (OF (=AU e raffo?
B. #ig GBI S+ (R (01 o=y,
THI (F BILE (0N, 92 THOG1 QN
=12 W3 =g (=1 (91 5 G 2R
C. (1® TId MIZEe GU=dd Giie
T T G e e il
F-AGet TS foorg o,
(SM O, TIHGI Gidel SIBIC|
D. AU B [0, IEE A0
S, WolIH Fiaa] FAL]
E. =¥ (3, (IN©
FH 50 *I7] TF0 PRI,
ATG (5513, AT IEEAPS,
ARG *[F IR =M
P W*asfE (T-FF0T AR, A0S T (PO O SGFlNd 3P (g’ 2

1. D,EABC
2 BAEDC
3. EBADC
4 EDBAC

Options :

22742751829. 1
22742751830. 2
22742751831.3
22742751832. 4

Question Number : 133 Question Id : 22742713302 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G (AT FAT (AT PLISI0 W (T 2o
A. 0% I FILPMA SF0GF 00,
f2pid 9 (o7 T g W1+ {407,
STNA? (F (OF (=AU e raffo?
B. #ig GBI S+ (R (01 o=y,
THI (F BILE (0N, 92 THOG1 QN
=12 W3 =g (=1 (91 5 G 2R
C. (1® TId MIZEe GU=dd Giie
T T G e e il
F-AGet TS foorg o,
(SM O, TIHGI Gidel SIBIC|
D. AU B [0, IEE A0
S, WolIH Fiaa] FAL]
E. =¥ (3, (IN©
FH 50 *I7] TF0 PRI,
ATG (5513, AT IEEAPS,
ARG *[F IR =M
P W*asfE (T-FF0T AR, A0S T (PO O SGFlNd 3P (g’ 2

1. D,EABC
2 BAEDC
3. EBADC
4 EDBAC

Options :

22742751829. 1
22742751830. 2
22742751831.3
22742751832. 4

Question Number : 134 Question Id : 22742713303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



PR TRT oo St AT STTGOTONAT T T 6% ST e & ST O er e &% (3 (Yo
FoCAageT! (g T A6 (o 2

A W% S

B FTEA

C. O

D, T

E o

IR O AT (3.5 T, 57 el O (3 R 771

1.BEADC
2 CAEBD
JDBAEC
4 EBDCA

Options :

22742751833. 1
22742751834. 2
22742751835. 3

22742751836. 4

Question Number : 134 Question Id : 22742713303 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I TR0 S Tt TR STRTTORT S0 O S STV T & TaIeTag O 4o e % (3 (3 e
FoRgeTl e T3 05 (R 24

A R 11

B e

C. O%fd

D W

E 2R

Y e T (3 T, 207 4T O 3 R 31

1.BEADC
2 CAEBD
3 DBAEC
4 EBDCA

Options:



22742751833. 1
22742751834. 2
22742751835. 3

22742751836. 4

Question Number : 135 Question Id : 22742713304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

AItE STgorY PErOrSd [[on W 250 SIaUEs g WioTe (R8T =

A T PGS ST

B. RIS STyl Al

C. PI4Ts ST=Tde1z RIS

D. ReRFeRA e T TEA ;s

E. *roqdl SR0d] S1Ery

NS N TPO Ao Tosd N5 W:5E ofGemg WPl &g ub 2o

1. ECBAD
2 DECBA
3 CBADE
4 ADEBC

Options :

22742751837. 1
22742751838. 2
22742751839. 3

22742751840. 4

Question Number : 135 Question Id : 22742713304 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



G SIFOIY FRIOISS [[ion W 2P0H Glas] g 9o (Re ==

A T TGP BIAY

B. FITSTT S SR

C. PIATS TIPS

D. ReRMeRITSH T TES={{a:

E. *r=dl SRS By

S NP WoTo s N5 W:HE ofGsmg WS &% N0 o

1. E.CBAD
2. DECBA
3. CBADE
4 ADEBC

Options :

22742751837. 1
22742751838. 2
22742751839. 3
22742751840. 4

Question Number : 136 Question Id : 22742713305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

TG 157 URI© 71 G e (e =

(919 3. e SITOTOR (R & 00T ORI IS AT151 (] 3| (RIUGH TR GeTe J01 SR SfT191 Y|

3% 3. veTge ST (RIUG SRR 211 (3, 00T S S9! g 9 - W7 (et 1w
GOt b <310 oM ATt st3hte 0 (g 247

1. ey [R3fez 35
) e s e g 499 2 A
3. [9gf0 y A 135 <o & 0
4. G [R3feR |

Options:

22742751841. 1
22742751842. 2
22742751843.3

22742751844. 4



Question Number : 136 Question Id : 22742713305 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG Q7 U 1L 7 Ko (783 =

1% . s RAOTOR (UG 8 T SRR T TSN (41 31 CRILEY SRR QT Q9T SR St

1 2. 77T SoTe (I *YEIRRR 2003 (R, 00 1T 2091 g o - 91 et
BoIRA o (43107 AT ~IThR NP0 0% [pah =4

1. Ge3 [Rqfez 53

2 fagfs s e fog g0 2
3 3 s g g fqfo 2 3
4. G [R3feR w1
Options:
22742751841. 1
22742751842 2
22742751843, 3

22742751844. 4

Question Number : 137 Question Id : 22742713306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

5 5130 ST R foigss U STy e b R (o =, 91 2rerwf s & o 3
T S A ST S e, (06 23, IR 4T g T 1o (|

I P11 FH LA, (57 B B (TY TR GO 4§09 NS 5151 AW (ML

G b [RMOF ST T6H HsTH00 59 [Kpgio 241

1 T8 @ e Tores 5% e @ T80 v |

2 T 8 e Gorgs 0% 8 Ie Terars s Ira 3
3. eI 3 (g Fef ol

4 T8 8 T Gonz el

Options :

22742751845. 1



22742751846. 2
22742751847. 3

22742751848. 4

Question Number : 137 Question Id : 22742713306 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A6 51 ©10 W] (e B0 91F Wil 1ib R0 (w83 21, T4 Uit 837 & [Foris Pe:
TG A AEL THIRT 09 129, (05 4=, I/ 4T g Tl e (27|

e PR FH AR, (7 ARG B (W AR 9 400 AKEE W91 A1 (R

T il (9919 AT AIhd <P 19 [pg(s 27

1 T8 8 @ Goraz 0% 992 I Twarg s |

2 T 8 IS Gorgs 5% 58 A6 T8 e I =3
3. THAI 9% g L&l o)

4. T8 & I Go32 o |

Options:

22742751845. 1
22742751846. 2
22742751847. 3
22742751848. 4

Question Number : 138 Question Id : 22742713307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e OIgey FRIOE S==ifFe 7t [ eT ==

(Y0 v WoNISTHT Alond T~ =4 (CIAFo |

fG91® 2 WMIOAISTHT TS WG 079 (o131 8 2ol Wioa|
SoEa wit [A9fog STees Sitea st B g ==

1. Gwod [Ag9Moz ]
2. 3% » = 8 R3S 2 ©1
3. 9% » o= 58 [9fS 2 51

e a0

4. Go¥ [HYMoE ue|

Options :

22742751849. 1
22742751850. 2
22742751851.3

22742751852. 4

Question Number : 138 Question Id : 22742713307 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G SIFoy FEreS F={Fs 7ib {36 (ST ==,

f33® y. TSI W3 T 24 (CINPIO |

f43® 2. WfSTIBA TS WHIE TOR (G151 8 2610 wfon |
Oogd it [A3Mod T Aed The B (gt 24,

1. Go¥ [[9ME 3]
2 339y s g [RYS 2 oI
3. A% » o 58 (RO 2 551
4 Go¥ ROz we|

Options:

22742751849. 1
22742751850. 2
22742751851.3
22742751852. 4

Question Number : 139 Question Id : 22742713308 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TI05 TR M (33 b (R (7831 21 9 2wl Ty 4Rs (oG e

Y. T (PRI T3 517 SO RIR00) AT S PSR A1 RO [ P00 e S|
3% PR AT TR &g N

BT Wb (R310F ST Ao T<TPL (3% ([pgio 247

| T8 8 e Gorgs 3¢ 3 & waras s )

2. T & 4 Gk (3% 2o e ToLars S1e
3. Tl 2 1o e il

4. T8 8 I% Got oAl

Options :

22742751853. 1
22742751854, 2
22742751855. 3

22742751856. 4

Question Number : 139 Question Id : 22742713308 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG et ST (e s R (o 7 3 e ey 44 s

TG 7] (PIRITNG -3 517 W19 STEI01 AN S Tigs ol R0 (Wb F300 e <o |
T TR 0! TR o A

et v g e S et (i Regfs ==

1 T899 8 I Gorst e 3 1% weras sl )

) T & I Sorss % o8 e wor wd g =l
3. Y40 0% 68 el o)

4. 754 & Ie Got oAl

Options :
22742751853, 1
22742751854. 2

22742751855. 3



22742751856. 4

Question Number : 140 Question Id : 22742713309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

TG 5 SrEg (@R ST it 99 ew ==

9% v NIYrge 9991 TR WEI-NY F3EE A0 QR |

9% 3. T AGF WaTT 99 T9EF WY AA00E ALY 756 P |
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1. 5od (g% B
2. (339 » 5o g K9S 2 oo
3. (9% » oo fog 999 2 1
4 5oy 902 g

Options :

22742751857. 1
22742751858. 2
22742751859. 3

22742751860. 4

Question Number : 140 Question Id : 22742713309 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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9319 3 NTNETod 399 9209 xmgﬁ-wwaiﬂﬁmhﬁ?ﬂ
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4 Twod 99z e |

Options :



22742751857. 1
22742751858. 2
22742751859. 3

22742751860. 4

Sub-Section Number : 2
Sub-Section Id : 227427521
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742713310 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (141 to 145)

Question Label : Comprehension

T G310 ST (ROT T | et oyl 43 ST WA $3 3310 T

RO T S0 7T A o S IR, S0k TR A (A% 4 AR | R IR R sl 7
P SRR 1051 TR O % T 5901 17 23008 (90 10 S| 9 1 7 S TG 1 R | S o (b
A 157 S o T O TR (X T3 18- O QIR0 L “pevish and depart from us,” W19 7% 75 g
Y (35 (3T TR A ‘Having cut off the heads of thousands of heroes, he throws them down. LU TSR ¢7T G T
T R TR 1T S, T (et S 17T QT ARt ) AT R (3 3peis o (STaTeert| 4% ST
W W23 (STLTAR TR R SRR T (X 5 Qg (A0, 1 Skt T 25 1 ST “A Bengal Grammar’ A0 (3
T3 5L 4710 T, (118 % (P (g

(9187 71 4 s (o T8RPy 9131 o T arive o Tkt ofd s o o 90, ¢, 47T ot Weteg
(3 ] % (01T, 67T ST (TG IR0 001 T 5 ) ST 0ry 3 ST T 14 9 Wt 9t T3

W ST 4 (% 231y 1M U3, BT 10T R % - <8 1T o4 TR Qo o1 A% Tl e of roweol
P 31 o ST AT 17 5 0 ek XTE T3 0T et Y R S A < gy erafre
0% Y VRS 10 Y701 R A1 (74 O Y2 0 R 0043 R T 90 50 Qe (7
T 5 R e T 10 Y T, o] ST et o T % ) e

Sub questions

Question Number : 141 Question Id : 22742713311 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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Question Number : 142 Question Id : 22742713312 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 22742713313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

I GY® W™ WA 7 (K910 (REF == 9 2AANIG T899 432 Boie e
PV S T AT ) T A o e G R (G = e G D B = VAU A BT R

Tie UER0GF 6] S O FE 126 |

OATEd Wb [99M0d SIS NI6d JIH00 2% [APF0 26

1. T8q @ If& Suras 3% I9: Ife Tetarg g |

2 9 & I oyt B (8 e TErErg 92 T w7
3. ABAG 0% [P§ Lo ool

4. TEF ¢ Ife GoFz ge|

Options:

22742751869. 1
22742751870. 2
22742751871.3

22742751872. 4

Question Number : 144 Question Id : 22742713314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 22742713315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Id : 22742713310 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



T S ST (R T et o o ITET SR Bgd 3310 TR

TTIO0R 4 SR AT 3 T I TR, YAty AT T (292 8 I3 g | R s A Tl 0%
PR FPCH 1831 | 04 O R 11 1 0P% VI W) 4 7 T M 91 T o o (5|
TGS 57T W I R O TR (R S 18- S TS LT “perish and depart fom us " SR 75 7% 18K
T (S5 (T3 I I ‘Having cut off the heads of thousands of heroes, he throws them down’ g6 CSFE ¢eT ORI
T [T TR 1T S, AT (T 4 1T T (T | o 6T 4 (31 s e (STaen| 4% o
BT T2 (STRAURR 2| Sb) T 00 (X e IRl (T, 1 St ST 2036 1 STToTa “A Bengal Grammar® AT (3
TR 3155 2 33, (a8 935 (0% T8

(IR TR 42 i (s TGPy T Stvot T SIS 44 3R R o AT 10 0. 04T, 1T I e
(30 T s O, 1 SRR (3 0T 001 (TR 43P ) RPT 6T 3 ST T 14 0 WIRoDI et

WY ST R (X 3y 7T U, T 10T 4 % - e AT 41 W) R i 0% Mgt o ff6 oo
1P 3 S0 ST MITSTETER AT g 1T ST 210 201 018 T o o1 S WA 48 e et
3R PRLT TR 1 31 RN R0 (7] T Y 21 30T oL AR T 900 903 et Y,
TSR 37 A3 T T %50 a2 T 1, oy s e ot 15T IR0% 60 SR

Sub questions

Question Number : 141 Question Id : 22742713311 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 142 Question Id : 22742713312 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 143 Question Id : 22742713313 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 22742713314 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 145 Question Id : 22742713315 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 3
Sub-Section Id : 227427522
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 22742713316 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742713317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 22742713318 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

GHYS T ST AItE FIAPIL 8- W&G ST (RO 26

A. YR 7Y TR 0 (AT *RS AL IRAF TS RO 51 1 ANR|
B. ST T 1R 8 (FIUNE Lad SIS 906 TG W9rGy-48 S |

C. R & PG e ALY (9791 8 |

D. (TN ~ECHF oA 15l QI (AF |

E. (I ~<30y oraam ¢ fEm Somerg (g 2o 2=

oMe PO (I RFFOr0 FIP0 1B &7 O =4

1.ABARC
2ADIRRE
3.B,CAdRE
4 B,DAdRE

Options:
22742751885. 1
22742751886. 2

22742751887.3

22742751888. 4

Question Number : 148 Question Id : 22742713319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Gy Ss™ WAL 6 FIIPI0 &G-SSF NG (R8T =T

A. I 267 919 493 TG Go|

B. ¥ GIIRA0S - 921 S5-I S0 GiGIY SR (FNH (0] Jenus-&7 5G|
C. YYFE (RAPe1-4 Jenus-J9 W AOBO ZARe|

D. RN-SW0TE TG ([0 GRS 21 ATSH (51

E. O TIIFIE TEE OfF P21 GoRE 77 #1ew gl

oM F (PO (I RFHGI STIPIG VB &7 O 26T

1.AB4ARRC
2ABARD
3.C,DARRE
4 B,D4ARRE



Options :

22742751889. 1
22742751890. 2
22742751891. 3

22742751892. 4

Question Number : 149 Question Id : 22742713320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 22742713321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Id : 22742713316 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension
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Sub questions

Question Number : 146 Question Id : 22742713317 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 147 Question Id : 22742713318 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 148 Question Id : 22742713319 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 22742713320 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 22742713321 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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